COMBINED TECHNICAL SERVICES EXAMINATION
(INTERVIEW POSTS)
COMPUTER BASED TEST
PAPER - II - SOCIOLOGY (PG DEGREE STANDARD)

In which vear the Indian Union Cabinet approved the National Policy for
children?

GusessErssian Gaflus dardreasamu @pdlu oira aThg eTH e 0SS5 ?

(A) April — 2010 (B) April — 2011
griiged — 2010 gluger — 2011
(©) April — 2012 @/Aprﬂ _ 2013
g — 2012 gure — 2013

(E) Answer not known
sHenL Ggflweldene

When was the National Policy for Children approved by Union Cabinet
to implement the programmes and schemes?
ArLmsdr  wHpd  SlLmsmer QeLoufssaude o saaushsts WHHL

DGO ETEN@ILLITED (& LDHENSHE (@h&I1 6 Cadlw QamaTens erGumg)
2adsfaEstul gl
(A) March 18, 2023 April 18, 2023
s 18, 2023 gure 18, 2023
(C) April 18, 2021 (D) May 18, 2021
agure 18, 2021 Guw 18, 2021

(E) Answer not known
eflent_ Ggflweiaweme
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3. Assertion [A] : Employment of Children Act was the First Statutory
Enactment exclusively dealing with Child Labour.

ampm [A] : GRLWsEET  Caim@aimiiy sl sy GEbos
Ggmflareris@ssrs Camhmedssin L (PHD FLL DM@,

Reason [R] : Article 24 and Article 45 of the Indian Constitution are
talks about Child Labour Employment.

smyewrid [R] : ayr58 24 womib a3dg 49, @Bdw wrflueniiyé s b
pElU@al  gppes  Csmfleret  Gemeemiiiy W)
sanding).

(A) [A] is true, but [R] 1s false

[A] &f gyarme [R] Seu)

(B)  Both [A] and [R] are true; [R] is the correct explanation of [A]

[A] wpmn [R] epdlw Qranpw #f; syeama [R] s [Alalne sflwmar

GT&SLOIM(G LD
(C) [A] is false, but [R] 1s true
[A] seumy wyemmed [R] &

\(V Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

[A] womb [R] yélw Quam(id el eparmer [R] ez [Alefne eflwmer
MESD e

(E) Answer not known
ailan_ QsMuicledena
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o

Read the followings :

aursdwnisaner curflEsayb :

(1) A National Charter for children was instituted to ensure that no
child remained illiterate hungry or taking of medical care.
ahs @  Gpbosyd  sdaluiCor, LAWGHT wHsHe G@PUUTH
Paoarod @nuuas 2pHuu@ss Caa@n aauGs Csflu slLgdlen
Cpr&swm@L.

(i1) ICDS as the mainstay of development strategy was Universalized.
gudmanhs Gubes CuLUTLH HlLd eaamE@GD CeameLu
Gaua(HCwearLCs s apsdlu WsHUTESLD.

(iii) Supplementary feeding programme was Universalized.
s (HD 26 L §EsE L ores SA@aEI GRb@SEREEGD Ceame L

Gouat(Rb.
(A) () only (B) (i1) only

(1) w @b (11) wi_Hb
(C)  (iii) only \(1})/&), (i), (iii)

(1), (i1), (111)

(1ii) @b

(E) Answer not known
eflen Qgflweildens

The Central Social Welfare Board was established in
wsdul saps pe aunflub o Geaurdsiul L e

(A) 1951 (B) 1952

.@/ 1953 (D) 1954

(E) Answer not known
afen Gsfweiaame
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Vocationalisation of Education comes in which — — Five Year
Plan.
Qemlnemips sdel Qamamm( upg ghsrarh gL gdler &raibd

(A) 4t Five Year Plan (B) 5% Five Year Plan
bIeiT&Emelg phgnem® S b phsTeug ghsreh S ib

(" 6 Five Year Plan (D) 7th Iive Year Plan
YOTeUG RhHsMeRTH &1 1h GTpTeug) sphsTar(h &L ib

(E)  Answer not known
eflenL GaMwaldena

When was the National Commission for Children and for Protection of
Children Rights set up?

Gphogsaiar o Mawsamer ungsmruusherer  Ceélul  @wibengser < ENETWILD
erGUTE BenESLILIL L g

(A) 2004 (B) 2005

(C) 2006 9’2007

(E) Answer not known
eflen QgMwaldene

What do you mean by ECCE?

ECCE camuger efifleurssid srerar?

(A) Every Child Can Empowered

@/ Early Childhood Care and Education

(C) Early Childhood Care and Empowerment
(D) Every Child Can Educated

(E) Answer not known
aflen L GgMweddene
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Match correctly the followings :
Spaar_aupapn sfluns QUrHEss

(a) ILO Foundation
ILO dgrssn

(b) Factory Act
QsmfipaTened FL L b

() Mines Act
&GMmIE FLUL LD

(d) The Employment of Children Act
Gphanss Ggmhemarni L b

@ b © @
(A) 1 3 4

4 1 2 3
@3 2 4 1
m1i 4 3 2

(E) Answer not known
aflaL Qs flweleane

1938
1938

1919
1919

1948
1948

1952
1952
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10. Assertion [A] : Sarva Shiksha Abhiyvan provides for school

infrastructure and quality improvement of the
children.

e @newssmraf [A] : s eflsasr s uren  LetaflsErssTar Slybe o6t

SLL@WLILsmarub, Gphamasesssnar Spss soellanwiu(b

QULPMRIGE DG .

Reason [R] : The Government aims to provide a good health care
for child.

smyeid [R] : DATETRED  GPHMSLHTA  HHQ &FH1HITL  WHYD  Hab
Gu@jéﬂ@mg].

( [A] is true, but [R] is false

(B)

(©)

(D)

(E)

Sociology

[A] eretugy o airenin gyamma [R] SeUDTaTg)
Both [A] and [R] are true; and [R] is the correct explanation of [A]

[A] wopw  [R] @pew@u eaenn; Gogw [R] eeug  sfwrer
eflerésiorsuyererg [Aledpes

[A] is false, [R] is true
[A] erérug sauprens [R] eraruig Fiflwrerg

Both [A] and [R] are true, but [R] is not the correct explanation of
[A] is correct

[A] wopis [R] @ren@in sflwreng), game [R] ererug [Alep@ sfwiren

GT&E& D)6

Answer not known
aflen GsMweldency



11.

12.

Assertion [A] : National Child Labour Project (NCLP) Government of

India scheme was initiated 1988

agmom [A] : 1988eyp  <ypa® CGsfw  Gubmssd Gsrfemeri HiL b

(NCLP) 8L sews oiparisd gleusswg,.

Reason [R]: Rehabilitate working children in 12 child labour

endemic districts of the country.

smyeorh [R] : BT ger 12 Gun@mss Oamfloment wrel L ksl peflyfuyib

GLRB@SHERHE, LHITHa| Safés Gaars.

\(y [A] and |R] are true, [R] is the correct explanation of [A]
]

(B)

©)

D)

(F)

(A
[A] is true but [R] is false

[A] eflwreng <pame [R] gauprens
[A] 1s false [R] 1s true

[A] seuprag [R] sfluneng

Both [A] and [R] are true, but [R] is not the correct explanation of
[A]

[A] wpmid [R] sflunens, [R]-[Alsg sfurar eflerésde

whmb [R] sflurarea, [R]-[Alessrar sfiunear alarésib

Answer not known
eflen Ggflwsdidena

Which Article of our Indian Constitution states the children below
14 years are considered as child labour?

14 augsElule GRb®ssr GRHosd Qsrfererigamas SmSUIUbHeuUNTEE
arenm 6TBs @BEL gflwud sLD sapdng ?

(A)

(€)

(E)

Article 20 (B) Article 22
eirduaenly ¢l 20 srfluaeaoly el 22
Article 23 @ﬂmicle 24
sirdwueanluy o8 23 sirflueenly afld 24
Answer not known

denL GgMwadidrena
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13.  Which one of the following years the Juvenile Justice Act was passed?
Sprit $A& L0 epg par® HanCeammiiul Lg 7

(A) 1985 ,@’1986

(C) 1987 (D) 1988

(E) Answer not known
eflen QzMwedene

14.  When was the Child Labour (Prohibition and Regulation) Act came into

existence?

GPHes Ggmpleneti (el mmib PQ@RG®D) L b riGung poLpanés,
QU587

(A) 1980 (B) 1982

(C) 1985 @f1986

(E)  Answer not known
aflen_ QgMwaeldena
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15.

16.

According to the Child Labour (Prohibition and Regulation) Amendment
bill, 2016.

Gpbas Gpmfaneri (oL LHMID RWEGP®ED) Hpss wEETHT 20166 Ly

(i)
(i)

(iii)

(1)

Employment of children below 14 years of age is 1llegal.

14 cuwugié@l Ll L Gpbegsme Gama inisgeg s «Grmsomang
Children are not allowed to work over time.

GYRh@sser & Hs® Crrb Caume baiiu Sigiwdssiitipalgloame
Children permitted to work between 7 pm to 8 am

Gpbamgadt @ray T wefl (psed STOD 8 wenfl ey Ceume Gewiw
PN LN gy

(1) only (B) (1) and (111) only

(1) bW (1) whmd (111) w Hid
(1) and (ii) only (D) (iii) only

(1) wpmb (11) 1B (111) o B

Answer not known
adlen_ Gg,rﬂu_la'i‘lsbsmm

As per the POSCO Act, what is the age of a Child?
GumevCan &1L sHarul Ghasulen aiwig) ererer?

(A)

(E)

Below 14 years of age (B) Below 16 years of age
14 auwgis@ 89 16 auwgés S1p
Below 18 years of age (D) Below 20 years of age
18 cuwigdE & 20 auwgéE S

Answer not known
alenL Qg flweléane
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17. The Recognised, reputed and capable voluntary organizations and
provide them assistance to setup and administer as many of the
following for Juveniles or Children as may be required.

Sudsfssriur L, LUsREuDD  whmb  Speiowrer gatenmiias  Ggram()
Blmycuanis@né GesreuneuaralhHiflenes @&Hmibf GYhsseT  deg

GPLDSS@FE5E, Caeneuwireseumenn Si@WLULSMHELD Blreudliiugheib
o el fflermar.
(A)  Adoption Centres (B) Foster Care Units
856sH UL @wwikiser ateriy ugmofiy Qfleyser
\&V Shelter Homes (D) Borstal Schools
ShiE L0 L miger Eiflmss Lenefser

(E) Answer not known
aflen Qgfweddana

18. The causes of Juvenile crimes are
Hpmir SDD RIS EFEHTE 5TiTewT s e

(1)  Poverty
eJLpEnLD

(11) Worst Companionship
Seupresr Bl

(111) Lack of Moral Education
Bl pss soafulhemeanio

(iv) Early Addiction and Violence blended cinema
BIOL s Gures LS QUPEHD  LOHDID UL M6t Folg L

Sengliu_migen
(A) (i) and (ii) (B) (ii) and (iii)
(1) wpmb (1) (1) wpmib (i)
Vﬁ), (ii), (iii) and (iv) (D) (ii), (iii) and (iv)
(1), (1), (iii) wpyo (v) (11), (iii) wpgin (iv)

(E)  Answer not known
aflen_ QgMwederena
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As per POCSO Act, it is a household where the person charged with the
offence lives or has lived at any time in a domestic relationship with the
child.

CunsCenrmr FLLgdlen L, @HDDL sTCriur bUT &g GBS 6 &H L
2 paliléd erbs Crrsdayin QUTLES @wgl aimpdamn eudliGL U@ESwneng.

(A)  Domestication (B) Prescribed Houschold
cUeTTUI _Lb LflbgienTée Ul L @@ eumpeslib
Cy Shared Household (D) Aggravated Household
LETULC L @EbU eumped_ib Erflbs GO aunpedlLib

(E) Answer not known
aflenl_ GgMweildena

Definition of ‘Child’ under POCSO Act,
GursGevr s gdlar &1p ‘Gubos' ereraniid Lgddler ClLmmar

(2) any person below the age of 18 years
18 auwgy & o erCarmrr

(b)  any person above the age of 18 years
18 cuwigy CGued o arCenrir

()  any person below the age of 14 vears
14 auwigy &ip 2 eGermrr

(d) any person below the age of 19 years
19 auwigy &ip o erGarmr

(A) (a) and (b) (B) (b) and (c)
(a) wpmin (b) (b) wpmie (c)
(C) (c) and (d) -.,('9? (a) only
(c) womib (d) (a) b @b

(E) Answer not known
alenL Asfluieferenc
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21. Match the following :

QuUmBSEIS
Policy Year
QarETens&aT/ Sl LhiseT GU(HLLD
(a) National Policy on Education 1. 1986
seadlssrer Caflu Landiams 1986
(b) National Policy on Child Labour 2. 1987
Gupos Gsrfomssrar Ceilu dardras 1987
(c) National Nutrition Policy 3. 1993
Csflu ssgena Cardras 1993
(d) National Health Policy 4. 2002
Gasflu =Crradu Gsrareas 2002

@ @® @ @
(A) 4 3 2 1

1 2 3 4
) 3 4 2 1
D) 2 3 1 4

(E) Answer not known
allenL Gz flwellwena
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22.

23.

The Convention on the rights of the Child formulated
Guhasserssner Laramm _(H 2 faw UrsLagdle amunsss

(a) For homeless and street children

2 @pell_ib wHYID A&H GWEDSSEHESTE
(b) On adoption and foster care of children

85080 ss0UC L wHmIb urmeilude e 6rear GLPhagseT
(c) Statelessness children

BTLDD &RHerS&EaT

(d) Dual citizenship children
@rie @uuflewn Qubp Gbagae

@ @, 0),©, @ /T and ©) only
(a), (b), (c), (d) (a) wpmo (b) I HIb
(C) (b) and (c) only (D) (c) and (d) only
(b) wpmb (€) LLEIR (c) wpgd (d) wi Gib

(E) Answer not known
efen Qgflwaldens

Under the Juvenile Justice (Care and Protection of Children) Act, 2000,
Persons of all religious including Hindus, Muslims, Christian and Parsis
could adopt under Section ———— of the Act.

ahs LHD &ihs RHAUGBD (@b, H@avseu, (pevedid whmibd uriedl @hesau
55Qs@asend, aaLmg aps Wfear & smpruLLBdeng, Ao B (seuali

HOID LNGSTUL) FLLID.

(A) Section 40 Mection 41

Gfle| 40 Qe 41
(C) Section 42 (D) Section 43
Gfle) 42 Gfley 43

(E) Answer not known
eflen Qafwailcdrena
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24.  Match the following :

Shsan_cuparn QuUIBSES
(a) Karl Mannheim
&6 D6ITETW LD

(b) Kimball Young

Sbumed wi

(¢) Luther L. Bernard
anst L. Qurerm

(d) Hayes

Gamuien

@ ) (o
(A) 3 1
% > g 4
(C) 4 3 2
(D) 3 4 T

(E) Answer not known

Sociology

el Qsfwelama

Positive and Negative social control
Cpivenp wHmb erdivap supss s Grun(
Control by sanction and control by
soclalization and education

@S] ELPEILD M O\ INTRT N oM mILd
FPELUIDTESD Gevall epeld &L HIUI T
Direct and indirect social control

CErg whHmb LOED(PSLOTET FUNSHE

& ()

Conscious and unconscious social
control

2_amiiey LHYL o eamisflupy  sapas
sLHULTE

16



25.

Assertion [A] :

gapm [A] :

Reason [R] :

smyenrd [R] :

Education is not just concerned with transmitting a
way of life. In the modern times it is largely devoted to
the communication of empirical knowledge.

soell aeTug @ ampsms eape &sLggeudld WL
oissen Qsrararellaame. peiar srashde <ig GuEmbUITGID
@ ue fleler Qsriy&@ sifuueflssiul Hdrerg.
Education has been communicating ideas and values
which play a part in regulating behaviour.

s@eduners BLH@SOL RUEGSUOSSMED @@ UR®SS
(ol & metor o (15 (& LD &(H&SFHSET LDHMILD L sener
Qe ubHsEISDg.

(A) Both [A] and [R] are true; and [R] is the correct explanation of [A]
[A] wpod [R] @ranpn &fl womb [R] eaeaug [Alenarer eflwmrer

el eTSH&LD

(B) [A] is true but [R] is false
[A] eramug &M, same [R] sauprang
(C) [A] is false, and [R] is true
[A] seumrarg wpmnd [R] sflurarg
Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

[A] vpge [R] @ravhGw sflureg, e [R] [A]-Bw@ efwner

N eT&HS OG0

(E) Answer not known
e Qsfluiaiweme

17 Sociology
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26.  System of devices whereby society brings its members into conformity
with the accepted standards of behaviours refers about
FPsL ger 2 pullarismer ghmsGeTaTeTiILL L BLS®E SIRIGEHHE Qs
DG FTHSATRSETET SepLUILTG g — GHUE G g

(A) Social change (B) Socialization
HPp& WLIHMID ECPSLOWIDTGED
Social control (D) Social Institution
Fepas &L (n L) &ops Blmi@iard

(E) Answer not known
aflen GgMwefdane

27. Who is the author of “Folkways"?
“BIULTT QUpESD” eTemp HreSlen < F AW wimir 2

(A) R.M. Mac Iver (B) E.A. Ross
R.M. Qusasiie E.A. grev

(C) A.W. Green .@/W.G. Sumner
AW. &far W.G. swarr

(E) Answer not known
eflent QsMwelldena
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28. Match the following :

Spsar_eubenn QUTHSSIS

(a) The Decline of the west

Cunsasdw aipss
(b) A study of History

eureTHMIGT LilgliLjgel

(¢) Social and cultural Dynamics

gAp&LD WHMID LeTUT () Quss

Ul

(d) Communist Manifesto

sbyyefev Sbsemerser

(@ () (o
(A) 4 12
B3 4 1
(©) 4 g 1
3 1 4

(E) Answer not known
v Qs Awefdane

(d)
3

2
2

&

2

19

Arnold Toynbee
oifresTmedl_ Lmudlems
Marx and Engels
LOMT&GL WHMILD 6 &
Oswald Spengler

SpevamiL evGlumkeri

Pitirim A Sorokin
G A sGyrdler

Sociology
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29. Match the following :

Epsar_aipen QuTSgs |

(a) Folkways 1. Mostly unconsciously
BT QULDESRIGET <idl& DwssElane
(b) Mores 2. Definite, clear and precise
ETulA11) Flieliorar, Ggefleunar wHmib
, FlebedlwLnrar
(¢) Customs 3. Unplanned origin
LI D& & 6ULD &S MG 6T gLl uuLng Campoid
(d) Law 4. Vary from group to group
) GWalHE G wrmUEID

@ ® @© @
A4 3 2
(B) 3 1 4
(O 2 T 1
D) 2 3 1

(E) Answer not known
ellen Qgfweddame

— D DD =

30. ‘Religion is morality touched with emotions’ who stated this?
DS CTETUIZ) 2 RTiTeL 6T Saly il (&S’ eTard: Salweurm wim ?

(A) Robert Mathew Mathew Arnold
gruf’ Guogul, Cuguy aifermedi

(C) F.H. Bradley (D) Maclver and Page
F.H. Qym Co Glsamaiialt wHpb Guish

(E) Answer not known
eflen QgMweddenea

Sociology 20



31.

32.

33.

Social movements bring about change, but ————— some time gives
birth of movements.

Fps QUSED LIHPSMSS CerampeBing, e ————— do Cprhsailed
Qusshsemar Gpisspg.
(A) Social mobility Mocial change
Feps Blenew wrhHmid gepd OTHMLD
(C) Social order (D) Social value
FepS P(LPMEIS geps W ULSET

(E) Answer not known
fen QaMwelldena

is a collective effort to promote or resist Social change.
— &l upd s paGappsHpGsar,  paGarppsoss
shuugHGar Geudulaps.

(A) Social mobility (B) Social process
FAPE B&ITE| Fops QEwIDpMmD
Social movement (D) Social action
Folpd QUSSHLD geps Qewdumh

(E) Answer not known
lev Gaflweiicenen

Who concluded that it is western societies were entering a period of
decay?

Copssu  sepstiser  Hosellen sTRss. L SSDEGET  BienphEeilLer e
(Pl4Q1&@ ubGeUT Wr?

(A) Tan Robertson (B) Sorokin
S|LIGT JTLITL_GOEH sQryréle

(C) Arnold Toynbee (I’Oswald Spengler
Syirarmérr’ Lrullerd SpeaumeL vk

(E) Answer not known
eflent QgMlwaildens
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34. What is the effects on society an introduction of machines and new
technology? |
Qupdrmser  LHmIBL  UHw Cemflop Lsdar eiflwsd  swssda  earar
eflenere|saner e 10588 ng) 2

(A) Collapse education system
seellapenn 6ipss

( Technological unemployment
Gsmflomr 1 Ceumaulearanto

(C) TIncreased poverty
<2idsfss aumerin

(D) Change in religion attitude
0% S@IGHWpanpuller LTHHLD

(E) Answer not known
eflenL Qafwedvena

35. In which process through the Social structures and institutions are
reconstructed, undergoing a cultural transformation
ahs @ Cewdd sups s Ll s Omib  Hneuamisd Leamewssiul {
snggmy wrHnsHnE 2 L LEEamer?

V Social change (B) Social control
FOPS WOTHMLD &op& & Huun@

(C) Social strata (D) Socialization
FUPS 2I(H&GHseT FAPSLOWILDTEE

(E) Answer not known
adlen Qs weldana
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36.

37.

38.

not only includes the introduction of new institutions but also
fundamental changes in old institution.

ydw Ppeatseiar eiflopsnd wLLEGES umpu HneasSle
g 1IN IDITHMRISE@ERLD Bl MhiELD.

(A) Sanskritisation M'estemisation
FLOGVS (HESLDWILD TS ComssSlunwnnéged

(C) Modernisation (D) Industrialisation
BASGTDWILDT&EE) QamfldwuwbmrEsed

(E) Answer not known
eflen Gasflwalldvency

Which one of the following year Weber created social action theory?
seps Qewe Cspnsas Qeuur Carppeiss @ ?

(A) 1918 (B) 1919
{r 1920 (D) 1921

(E) Answer not known
aflen GgMwedldane

The cyclical theories was propounded by
apnds Gam LTRad —— S0 2 (HEUNSSULILL G

(A) Durkheim Moynbee

5l&6& D e
(C) Max Weber (D) Talcott person
wrsen Geuu LTed&L LIMTEFes

(E) Answer not known
alen Qaflweierene
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39. The social relationships may be studied by which made?
FUPE 2 peyseer ehs penpuliler e Gauiuemb?

(A) Exchange \(Mnteraction
uflwrbhoib Qg miry
(C) Change (D) Fact
WOMTHM LD 2 _GiTenin
(E) Answer not known
elen Ggflweldrena
40. Assertion [A] : Competition is a natural result of universal struggle
for existence.
sapm [A] : Cunlig erarug) 2 W9 eurpeugpaTar o wserralu GUTFTLL (b,
Reason [R] : All people can never satisfy all their desires.
smewd [R] : e walgTs@h shs@mw aonr Cameasmenyn Liibs)

oo

(B)

(©)

(D)

(E)

Sociology

Gewlw apigwng.
1s true and [R] true

]
[A] whmib [R] @rer@ i sflwneng
[A] is true but [R] is false
[A] &Ml game [R] seumy
[A] 1s false [R] is true
[A] geumy [R] &
Both [A] and [R] are false
[A] wpguod [R] @ran@®w seum

Answer not known
e Gasfweldwens
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41.

42.

Which one of the following is true of competition?
Curigewls updl Gerameuaraipbled erg 2 @reno ?

(A) It is a great source of conflict
Q5 LRSS B BUBD PSTTONED
(BY It 1s essential for economic progress
QummartsTy penCarposSneE Ba euslwub
(C) It is the basic of socialist societies
Qg Cenedls sepsmsaien gL
(D) It is dangerous at national level
@& Cadlu yarelildr Hussrag

(E) Answer not known
eflen GgRwaildema

Which of the following distinction are true about conflict and
competition?
g whpmb Gumig upflu Gereumnd Caupurhiseilcn ers) 2 @i ?

(i) Competition is personal, conflict become personalised.
Guriy saftur Lg, Yed sefluuueamssiupEng.

(i) Competition is non-violent, conflict may involve violence.
Gum’ g auaTAp@PWHDS. LLFDIdD auempenD @\(m&sQMD.

(iii) Conflict involves contact, competition does not.
Leod Qarifsmar o et s8uig), Guriguild @5 Qeame

(A) (1) only (B) (1) and (iii) only

(1) b @b (1) whmb (111) L ED
(C) (i) and (i1) only (11) and (ii1) only

(1) wombd (1) wLEW (i1) whmid (111) wiHid

(E) Answer not known
eflen Qzflweflerena
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43. Which of these statements is true?
B8 oifémaseid erg o aranio?

(A)  Co-workers are always better agents of socialisation than teacher
S fweny el o5 Lemflurarraer qUCUTHID  sepsLIbTES6T Snhs

(PEQITSET

( Family can sometimes prove to be a negative agent of socialisation
GObUL  feo  Gpruseie swpsouLTEsend) TED®DUTE  (PSUTTS
Blepdés apiguyi

(C) Family is always the best agent of socialisation
Ghoub eriGurg fnphs sepswuibisseiar (p&eur
(D) Both (A) and (C)
(A) wpgis (C) @ren(Gio

(E)  Answer not known
eflenL. CsMwueddena

44. Which of the following is the primary socializing agency?
Spaar _euppar orgy FEPELWILIUSHE P Hipieueib ?

(A)  School (B) Government
LITL_&Fmenan | JFMTHEI&GLD

(C) Media .@/Family
gaeued Lemfihm U &MWL

(E)  Answer not known
eSlem L Qsflweldena
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46.

‘When an individual repressed Childhood memories of trauma which did
not occur’ 1s known as
em nufler @Gebms Ume st FTEN  Hoaasds @RssUURLELTE,
Qg sfluLuBEDg.
(A) False memory syndromes

seupmnan Hlevana| Crmiis @l
@’ False recovered memories of trauma

<o iEfl e seumrs B sILC L Blevaraser

(C) Reconstructive memory syndromes
LegentoliL] Blenareus Gomilds@D

(D) Deconstructive memory syndromes
s Lewliy Heaaras GprisEH

(E) Answer not known
e GsMlwellerenew

When an individual is unaware that they present different personalities
to the world is known as

am put QaaCay E@Er@bamer 2 @&HE pemameudSpmit eretuagy SHug
Curg <iflutiu@eug

(A) Dislocated identity disorder
@ NQuUTES e wreT GLpUILLD

(B) Disjointed identity disorder
WASHUULL D@L wmer @Gempum( e

(C) Disappropriate identity disorder
QupSSLHD AL WTar GemDUT(h&er

Dissociative identity disorder
Qs jenLwner G

(E) Answer not known
edenL GaMwalldene
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47. In our Indian Constitution which Articles specifically refers to women
and children.

beefamyb @ppmssmenyn  upd L ED G@ILEEL @pHu  rsamwlGer
FIHGIEEET cTenal 7

(A) Article 14 and 21 (G Article 39 and 42
#1865 14 wogw 21 8768 39 womib 42
(C) Article 15 and 30 (D) Article 19 and 21
&nsgl 15 wpmib 30 8768 19 whmp 21

(E) Answer not known
eflen QsMweildane
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48. Match the following :

Spsaaeupenn QUTHSSIE

(a) Art. 51(A) (e)

sy58 H1(A) (e)

(b) Art. 39(d)

sr5g 39(d)

(¢) Art. 16

g 16
(d) Art. 14

arsg 14

(@) () (© @
1 2 3 4

(B) 4 3 2

1
C) 2 1 3 4
2

(D) 3 4 1

(E) Answer not known
eSlen Gsflweiideme

To renounce the practices derogatory to
the dignity of women

waetfler  wHUADEG  DWES
cuaaWiler e atar BLSMS

ghuib

Equal pay for equal work for both men
and women

@murelasGasnmeEd #o earFluib Folomar
(]

Equality of opportunities in matters of
public appointment

gorer GCeuameeumlliL] GULPHIGED
Men and women to have equal rights
and opportunities in the political
economic and social spheres

Sirflwd, Qurmertsrrd wHmd saps e flew
@b 2T HHD Cue GHalmaEGD

10 2 flenw
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49. Meaning of Dowry death

uUrsLsment G&meney ereimmed ereimanr ?

1)

(11)

(1)

(A)

(©)

(E)

Sociology

If a woman commits suicide within the 9 yrs of her marriage
glmweanroner QuaTanTTaieueT &0 @wr o merr RETLIG eUbLSSIDEE sHbsrame
Qg mssd Goustr(Rib

If has been proved that she has been subjected to cruelty
S&0srenauIrers @résnnm gapTl @ m&s Ceudm®ib

This dowry death also a new criminal offence has been
incorporated in the Indian penal code

QéEdpsms  @Hmedwe san_eanuns  @pdu ST e &l gdled
GIIERICEF]

@) and (ii) \(yﬁi) and (iii)

(1) whmw (11) (1) wpmib (1i1)
(1) and (ii1) (D) (@), (1), (111)
(1) wpmid (iii) (1), (i1), (iii)

Answer not known
eflen_ QaMuwiadcene
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50. The Act aims to protect the dignity of women and prevent violence and

51.

their exploitation

@sslLonang CuansE@psbsdlyte BLE&GD  LHOIL  Seursefldr  umgsTUY,
samaflun  LHpL  SeisEpsbsdlites BLEGSD  edarepepewu  5HSHL
ghHuhESIILL L QRETDTEGLD.

(A) Indian penal code, 1961
@S gETLaners s b, 1961

{}y Indecent representation of women (prohibition) Act, 1986
Questsarer Feupns SgsMéEhd ga ss1 b, 1986

(C) Immoral traffic (prevention) Act, 1956
UL EHOH ganl &L b, 1956

(D) Women’s right Act

Quearrser 2 Menwds L 1D

(E) Answer not known
e Gsflwalidena

Which article was amended to give birth to the statutory national
commission for SCs and STs via the constitution bill, 19907

1990 erdwemniy wGerst apawrs SC wpmd ST WRelamssrs Cadlu s
Guelear 2 (heurés Harem aubg Hmssn g ?

(A) Article 238 (B#F Article 338
ey 238 agbg 338

(C) Article 348 (D) Article 358
assHs 348 axnHg 308

(E) Answer not known
allenr Gsflwalweane
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52. Adivasis and their struggle are different from the dalits struggle because
Feurd eauglnlent Cumymi L ib adsdlunsnrarg sdls euglQart Gurrrin
Gurerm sidearng erQarennmea

(

(B)

©)

(D)

(E)

Sociology

Adivasis were concentrated in contiguous areas and could demand
statehood

Phlarflssr 2055085 UsdHsdo Gellbgiereramt  oHmbd  wTHeb
Sibgevans Carrerd

They did not face social exclusion like the dalits

Sleiser gy  adliCsraresd Gyésemers Cuind FPS L DSSET(EHLD
Yresaaraenar adr&Qanereudloane

They were not discriminated against like the dalits

5604 HnQamen@sd Sam renwenw erglrllamereug @dana

Their social and economic conditions were better than the dalits
Sauiaatlen s, Quigertgrrih sl oflL Gobul L grs Qmsdns

Answer not known
aflen QgRuedoame
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53. What are the symptoms of exclusion?
devsassdharar obl@dlaer oremer?

(1)  Vulnerable to risks/shocks
IS5 BT S| TFE 5 (@58 2eTMEESN g UG
(11) Unequal access to resources
aupraGener GupieugHaTear soWLHDH cumiliL
(ii1) Unequal participation
gownm unGshyy
(iv) Exploitative environment
SITETL_ 60 FPeD
(v) Denial of opportunities

aUMULILSenal LONSSHQ

(ii), (iii) and (v) (B) (i), (i), (iii), (iv) and (v)
(i), (ii1) whpmib (v) (1), (i), (i), (v) wpgie (v)
(€) (), (i), (iii) and (v) (D) (ii), (iii), (v) and (v)
@), (i), (i) whmb (v) (i), (ii1), (iv) wom (¥)

(E) Answer not known
clen Gafluiehicoancw
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54.  Which of the following areas for social exclusion?
Spsan_aupdla aps Hoowe/ucHta sws aossd panL Gumélng eerLmg

SeiTL_ml.

(1)

(11)

(iii)

(A)

(©

(E)

Sociology

Material deprivation

Quinpetser LupPTESH@D

Lack of normative integration

BellpGsrany Quing 9feld @amemrss Criwep ghur@se uppréEGeD
Sufficient access to social rights

seps 2 Mewsmar AuneushE Curdu @igyemaib INGEEL)

(1) only { y(i) and (i1) only

(1) w_@wb (1) wHmb (11) wi G
(1) and (iii) only (D) (i1) and (iii) only

(1) wpmw (1) v o (11) wpoid (1) wr b

Answer not known
et GsRwslldena
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55. Which of the following treatments is correct regarding the example of
excluding someone?

SpsarLaipfle “@umaamr sips dlasssdne aOSgsasT gpanar sijembseafld
argy &fl erar AL eyb.

(1) Not inviting him to the family - social function
Q(Heuer GOIbU, Fps &l PrEsEHEE @ pssmod 6ll(eus)

(i1) Not collecting share money from individual for family tour
&HLL &HperelnHE LkiG LD U@ S&TOM @) (HULE

(iii) Not attending their family function

Sjeutsafear GOHwu eflwrssaie sabhs Cardarermod @@mLUg

‘@/ G) only B) () and (ii) only

(1) w_Ew (1) wpmbd (1) wL @b
(C) (i) and (iii) only (D) (i) and (ii) only

(i1) whmup (1il) v EW (1) wpmb (1ii) w Eb

(E) Answer not known
sHer Gsfluisldana

56. Main characteristic of Durkheim’s organic solidarity society is
Gresuder silo ehnewn Fpasdlar apsslu L

(A) Undifferentiated society (B) Homogeneity
CaupumHiSsuuLTS FPSID ep(HemLLILIM(hH

C)” Division of labour (D) Social cohesiveness of small
GauemaIL@GUL (pedD APl seps @HmienLD

(E) Answer not known
eflen Qaflueiidrand
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57. The case of Rohingyan Muslims can be cited as an example of

paradigm
Crradlur  gpevdSibsefiar  eupdems - (peT@sTransSne,
2 STIewTIONSS @HMUIGL b,
\(y Monopoly Paradigm (B) Solidarity Paradigm
gsCurs (ereysTyemh ROMEOLD (PGS TTETLD
(C) Specialization Paradigm (D) Economic Paradigm
Souy apemesy s nyenTid Cunmegry qpereygmranTin

(E) Answer not known
ellen Qaflwelcranea

58.  Who is the founding father of globalization?
2 WEDWLNESD6 FhHas WTH?

( Peter Sutherland (B) Theodore Levitt
S it s Gevart” SCwnrir Qeell

(C) Ronald Robertson (D) Martin Albrow
QyreTredl T _gebr wriliger @duGym

(E) Answer not known
eflen QgMweddana
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59.

Which of the following statements are true?
\Yeirel (meuaTeuhmIeT renel &ifl

@)

(1)

(1)

(iv)

(A)

(E)

The untouchability (offences) Act, 1955 was comprehensively
amended and renamed as protection of Civil Rights Act, which
came into force 1n 1976

Sahml_menin anl & LD 1955 yang sLbg 19766 pri( o Mann Limgsmiy
gL L era DMGUWIT QUDM HHSsh CeuululL g.

The SCs and STs (Prevention of Atrocities) Act came into being In
2000.

2000 <=yib @ SCs wopmd STs urgismiy L Qarer® euyliulL g

These measures prescribe strict punishments and provide relief
and rehabilitation

@ser pped sEELLING S@TLma D euiphid wpeumpaaiu|b Blbwgub
Qumdlermert.

SC’s constitute a little over 30% of the population

wésar Qsresie 30 spaldssdart SC gy wasarmeur

(1), (11), (iii), (iv) are true (B) (1), (1), (111) are true
(1), (i1), (1), (1v) & (1), (i) wppid (ii1) &A
(1) and (iv) are not true (I (1) and (111) are true
(i1) whmid Av) seuy) (1) wHob (111) &l

Answer not known
cllemL leﬂmaﬂmmm
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60. Match the following.

sllurarepflener QUTHES5.

(a) Article 330

ag55 330

(b) Article 371 (a)
asr88 371 (a)

(c) Article 75

asrs58 15

(d) Article 46

a%rsg 46

(@ (b (o

A 2 4 3
3 1 4

(C) 4 3 1
D) 3 2 4

(E) Answer not known
ailent  GlsMweldana

Sociology

1.

(d)

i A B

Welfare of ST and raising the level of
administration of scheduled areas

ST Gfalereny QUETLILI(H &S B{GUTEEET
DL amen Ugdlaea flreurs  Gubum e

BB

Reservation of seats for ST in Loksabha and
assemblies

ST Gfefanmée Comss i whmb

FLL DTN BISATTED 51568(H

Promoting  educational and economic
interests of the STs.

ST Gfefenfar swed wHmib Qumrmermg Ty
perGeammib

Special provisions in respect of N agaland,
Assam and Manipur

Branhgl, Asmd, wefliyr wiflomseier dpoy
&S HET
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61.

62.

Which of the following statement is correct about the meaning of
Nomadic caste in Tamil Nadu?

Spsar_sunhe BrGLmg @arb srarpred cratugnarar Lfldsafienr erg &l 2

(i) People who travel from onc place to another and not living in one

place all the time

@it QL sHd Qam ihg smsTod Bgssy L wiflé derarGL GméE!bd
Gw

(1) People who migrate to other states during off season of agriculture

Heaugmib @oers stesdd Oss wiflensErse QLD Cuwb
@& (pedlerit

(iii) People who work as drivers in lorries who frequently go outside the
family not living permanently in the house

SUige Qamiipy GuulGasnod ogssy CQaeflyr Gedgb e

L (Hp&E6r
( (1) only (B) (1) and (11) only

(1) LW (1) whmb (A1) wr Hib
(C) (1) and (i11) only (D) (i1) and (iii) only

(1) wpmd (111) wi (b (i1) whmbd (111) WL EHLD

(E) Answer not known
e Qzfweiidena

Which of the following article empowers the President of India to
appoint a commissioner to look after the tribal welfare activities?
uprigyai pos QeuduThsmas swalss Qb M@ fublés @pHus
Gl LTES s@wemhEE Wearemd abhs 9fe oifsrmbd efssng ?

( Article 338 (B) Article 319
19Mey 338 Qfley 319

(C) Article 320 (D) Article 340
9fa; 320 Gfley 340

(E) Answer not known
e QgMwaelldenay
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63.  When was the Hindu Succession act passed?
Qg amflsfiews s b auGurs HepCappriu &

(A) 1950 .@)/1956
(C) 1959 (D) 1960

(E) Answer not known
eilen QgAuiaferene

64.  Which of the following tribals found in the Southern Zone area?
Spssean Lpngy el Opne el EmanTiiILReug) g ?

(1) Badaga and Toda
u@sT wpmib Cerm

(11) Badaga and Yerava
u@sr wHmn Cuiyeur

(1i1) Munda and Khasi
QpeRTLT Whmb srd

(A) (1) only (B) (i) and (iii) only
() v Eb (1) whmw (1) we G
(1) and (ii) only (D) (u1) only
(1) wpoid (1) wr Eb (111) ot @Bib

(E) Answer not known
dleni QgMweldena
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65. Expansion of KCOSOC
ECOSOC &9fleunssid

W United Nations through Economic and Social Council

(B)

(©)

(D)

(1)

B&Ew prl () QUmBETTSTT DD Fps G

United National Educationally and Security Council
B58W B s06d WHYID UTHSTUIL @GP

United Nations Ensure and Social Council

p&SL B (B 2 s LHYID Fps G

United Nations Economically and Security Council
p&EW B[ Aungearmsmy fHwmar Lngsniy @

Answer not known
eflen Clsflweldama

41
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66. Which of the followings is incorrectly paired?
Epsaeupiles ergy saunTE G aahseTans) 7

(1) PVTGs — Particularly Vulnerable Tribal Groups
PVTGs gl L euens UTELLS@OME@D LPRIGL Ganoése

(2) SDGs — Standard Development Goal
SDGs Elrhsr eueriéd @eées,

(3) SECs —  Socially Excluded Communities
SkCs FWPESHTD LnSsalGaELLL L @amd

(4) SSFW —  Small Saving Fisher Women
SSFW fAn Cefluy Bevew Quamaar

\(1)/ (1) and (8) are correct (B) (1) and (2) are correct

(Db (3)ib &M (Dw (2)d #A

(C) (2) and (3) are correct (D) (3) and (4) are correct
2)w (3w af (3)b (4)b &M

() Answer not known
ellen QgMueidena

67. Which of the followings is right about the year the Criminal Tribal Act
was abolished?
Spsar_cupPled g &7 2 @ppi unbLeTGart L b HReEE LI L Spa(R

A) 1951 ,@/ 1952

(C) 1953 (D) 1954

(E) Answer not known
elilen GgMwalerena

Sociology 42



68.

Assertion [A] : Maintenance allowance 1s given to disability at the

rate of Rs.1500 per month

gamm [A] : wrpms SpermefsensE urmafiigyg Qareaswns WIsH UMD

1500/- auprasiiupEps

Reason [R]: The allowance is sent through ‘ECS’ to their bank

account from treasury

srrawrd [R] : snhaposddmha  Crrgwns wipms Snermelseafier eurd

(A)

(

(€)

(D)

(E)

sansdlh@ Sararan epebd Bigululu@Eng.
[A] is correct but [R] is incorrect
[A] &f gpemé [R] seum
Both [A] and [R] are correct [R] is the correct explanation of [A]
[A], [R] @rew@®in &, [R] eramug [A] efler sflwrer eflerésid
[A] is incorrect, [R] 1s correct
[A] #f [R] seum)
Both [A] and [R] are true, but [R] is not the correct explanation of
[A]
[A], [R] @uem®d sM [R] aramug [A] eflerm sfluner elerésin <ida
Answer not known
el Ggfwuelden
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69. Which one of the following is correctly matched?
spsar_apfle ag QUIBESLTS 2 derg ?

(A) PLHIV —  People Living with Health Infection Victor
PLHIV Cpmi Cempmy UeAyL e eumpueuiseT

\(9’ TANSACS - Tamil Nadu State AIDS Control Society
TANSACS sWLBTEH el ev s GuuM () FRisb

(C) PLWHA — People Living with Head Ache
PLWHA gy e aumpib Grrureflser

(D) ART — Antibody Regulatory Therapy
ART gy s&flew wapiu@sgib Crmis fésd wpeap

(E) Answer not known
ailenL Qsflwedldvene

70.  Which one of the following is correct characteristics of urban areas?
Spsam_cupBlé may UGS erenuige @ammsenar @hliug, T ?

(i)  Density of population is more

wésaflen @il 68 s
(1)  Established in the natural settings

G9l@BOY QuiesCur® o ks SDIDSSILIL g (HESLD
(iii)) People follow conventional way of life

W&ESHET LIprisTe apanmude GUTDBG Glamesrig (mLLim

( (1) only (B) (1) and (i1) only

(1) v @Ew (1) whmid (11) wr @b
(C) (1) and (iii) only (D) (1) and (iii) only

(1) whmb (111) wr @b (1) wpmib (1) w @b

(E) Answer not known
allen Qg fluiaferanc
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1.

72.

Factors causing urban pull and rural push
264 2 G LOHMID BET @(PSHe sryailsarTaranel

(B)
(©)
D)

(E)

Comforts of city life

Baifler cuFdQamear. eunpey apenm

Definite occupation
GOUElL Ggmbe

Endogamous groups
HASET(PDOD G(LPESET

Determination by birth
prber =igriuenwlld Siwreliug

Answer not known
eflen_ Gglﬂu_l-sﬁlsbemw

Which of the following is incorrectly paired?
SRS _UHMIET cTeney Heunins Eemeands UL [HaTerg) ?

(1)

(2)

(©)

(E)

Robert Park

TTUITL. UMTS

Howard Woolston
Gaprea’ aydevL 6
James A. Quinn
Gegibav 67, &allebr

Adna F. Weber

il erm erih. Geuu

(1) and (2) are correct
(1) whyb (2) vl @Ew &

(1) and (4) are correct
(1) womib (4) v Gid &

Answer not known
aflenL Gsflwed dena

The city
B&TLD
The Growth of cities
B bsallen cuarTsd)
Urban Sociology
B&I Fepsedlue
Metropolis
G CyrEurdlev (QumBaETid)
(B) (2) and (3) are correct
(2) inpmind (3) b G &f

(L (2) and (4) are correct
(2) whmb (4) br G &f
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73. 1s the movement of population from rural to urban areas.
Symegdlalmpg paTESNE Uab Quuihg Ceoaib panss GTEh )
Gluwr,

(A) Urbanism M rbanisation
L&flwub [b& ] LOWILDTSED
(C) Rurbanisation (D) Rurbanism
£l FEILLINTSE Srmopasfiuib
(E) Answer not known
allenL Gsflweldenew
74.  Which of the following factors decides the ecological structure of urban?

SpsaL apg apeny sryells6r FETUD SODIEG®OS Srrafédlerng 7

(1)  Differentiation of functions
Qeweum_iged Ceupurpas
(11) Caste segregation

sorSlw Afleyser
(111) Cultural segregation
aUT&s Hfles6r
(A) (1) only
(1) WL (HiLbd
( (1) and (111) only
(1) whmib (1i1) wr @b
(E) Answer not known
aflenL GlgMweidena

Sociology
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(B) (i) and (i1) only

(1) wihmo (11) wr @
(D) (i1) and (i11) only

(11) whmib (11i) wi G



75.  Which of the followings is correct one of the impact of urbanisation on
the society is
Sipssam_eundled 678 BETOWITFOET FTESSSTED 2 (HeUTETS) 2

(1) Dis-integration of caste - system.
gl APODPEET 2 LB

(i1) Encouragement of caste organisation.
englw FRIGREISGET 2ors@alsEal LIRS arnar.

(111) Abolition of Jajmani system.

gewrefl (pern @il

(A) () only (B) (1) and (11) only

(1) L@ (1) whmibd (11) wi_Fid
{(/ (i) and (iii) only (D) (i) and (iii) only

(1) wpme (111) L (11) wHmd (111) wr b

(E) Answer not known
cilen Glgflweldvane

47 Sociology
[Turn over



76.  Which of the followings are the impact of urbanisation in India?
SpaerLauh e E\pdlwmeded B& TLOWILON S6S] 6o Wp&E W aflenaTeuns
2 G TS Iq LI (gl)enel 6Tg) ? (e ) ?

(1) Waste — disposal problems
GUmUseeT shHnieudld o et Wrssmeanser
(i1) Frequent cruption of caste conflict
&8l Clallgd@Eh sy saeurhiseT
(1)) Polluted air and poor quality of water

T&EUL L STHMID STblders seiresnt(mLb

(4) () only (B) (i) and (ii) only

(1) L@ (1) womiw (11) b G
Cyf (1) and (iii) only (D) (ii) only

(1) wpmb (111) v Hid (11) o1 @ib

(E) Answer not known
allen Gafluefdvene

~1

~]

Who launched the national skills Development mission?
Czélu diper Cuobum' () Qussses GsT mdwar wri?
V The honourable Prime Minister Narendra Modi
wrer 8@ byswi pCrpdr Guome
(B) Dr. E.V. Ramana Reddy
Lm&L_ft mr.efl. garm Qrig
(C) The honourable chief minister - Stalin
LrerL @ (pseveul v medler
(D) The honourable President of India Smt. Droupadi Murmu
e e @pgwureller ammdud whind. HQrerud apirap

(E) Answer not known
sflen QgMlweldena
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78. Which were the developmental programmes implemented in Seva Gram

Ashram?
Spaar_eupde Gseur &ygmo  Hdqobd  epawrs  Qrudu@ssiucL Sgmo
wenGarhmg FLLrigGeT eTaneu ?

(1)  Adult education
Gt sebel

(11) Tree plantation
wib BH S

(i) Village industries

Sy Ggmosar

(A) (1) only (B) (1) and (i1) only

(1) wLEwW : (1) wpmw (A1) wWLED
( (1) and (i11) only (D) (11) and (111) only

(1) whmd (111) wiGib (i1) whmb (111) wi Hib

(E) Answer not known
aflant Ggmwaileenc

Education, public health and sanitation, women empowerment are the
factors is important for

swed, Qug &aMETIL WWHYL ssreMb, Quarssr sfarroelisged sryelse
U@EHES (PESlLLTETEGL.

(A) Urban development in India (B) Planning in India

@pHwureller pariym auaTiés @pHwredled bl e
(C) Schemes in India Rural Development in India
@pduneileyr &L rmser @bgwreiler Symouyn Coburh

(E) Answer not known
eflant_ GQgMweileranco
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80. The National social assistance programme is administered by
Codlu sops e gels A —— g PreudlésliLREnsg).
(A) Ministry of Panchayat Raj
LU@hEMUIESE! TTER 24enDFFssLD
\(y Ministry of rural development
2O GUETITFS] BienIDFFSID
(C) Ministry of women and child development
el LHMID GPhasser G () e nsssih
(D) Ministry of social justice and empowerment
gps b vpoib sifstroalssn anissin

(E) Answer not known
eflenL QsMwaldvena

81. Choose the right match
#fluiner @aearerws CoipGsE

(1)  Robert park —  The city
TTLITL LT [B&TLD

(11) Louis Wirth —  The urbanism as a way of life
@nufen g B&T @UTb&ens - aumpd auflapen

(1) Weber —  Division of labour
Gleuur Gauener LigLiy

(iv) Mars —  Suilcide
LOIT T shEsTenw

(A) (1) and (iii) are correct (B) (1) and (iv) are correct
(1) whmb (1i1) &M (1) wpmb (1v) #A

CYF (1) and (i1) are correct (D) (11) and (iv) are correct
(1) whmib (i1) &f (11) wpmib (1v) &M

(E) Answer not known
dilen GsNwelcrena
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82.

@

(1)

The Swarnajayanti Gram Swarozgar Yojana 1s operative from
1st April 1995.

sveuiieniClepwihdl  Sgmd  eveuCrrevatt Cummerr guird 1, 1995 wpsa
QeuoubssiuGADg.
To bring the assisted Swarozgar in above poverty line

2 el Qumb eveuCymevarilsaer aupemws CamighE Coe Qsrar® ey
Geuesol () Lb.

(i11) By providing them income - generating assets through bank credit

(©)

(1)

in government subsidy

SlafEEhsE aindls sLer wHnb 7& wreaflub apeb euELTEID FLHID
QFT55 556 aULDHIEEUSET (ALPELD

(1) Only (B) (11) Only

(1) wr Hib (11) bW

(ii1) Only (D) (i1) and (ii1) only
(111) wi Hib ' (11) whmd (111) wL P

Answer not known
clleni_ @grﬂmcﬁ]@mm
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83. Match the following.
Epsam_supenpls QUTHSES.
(a) National Extension
services

GCaalu elflainés Geeneuser

(b) Antyodaya programme 2.

SBsCusTu b
(c) Training Rural youth
for self employment

SlpToyD B)enereris@né s
swllsmfled Ludhs

(d) Rural Landless 4.

Employment Guarantee
programme

Srmolim Hleowhmeurs @hés e

GeuepeeumiiliL 2 §sraims S ib

@ b)) @© (@
A) 2 4 1 3
B) 4 2 3 1
(P g 1 4 3
(D) 1 3 4 2

(E) Answer not known
eflenl_ Qgflwaierena
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84.

Choose the right answer from the followings. Who among the followings
said in the urban sociological theory
“Rise of city was transition from barbarism to civilization”

Epsam_aupld paiyp spps Qandiws eeug “sr Glrmargs sasddmbgl
praflswrgn wrhnGw,” ereny Cerereare L ?

(A) Maclver (B) A.R. Desai
Q&enseurm .. Gaemi

_(9/ Marx and Engels (D) Louis Wirth
WIT&e HMmIb IS 6 Qruilev elirg

(E) Answer not known
sl Csflweldena

Choose the right answer : Whose statement 1s this?

The history of all hiterto existing society is the history of the class
struggle.

sfluner uflenew Csira) GlFlweyD.

Py @mEGL Soeidg FupssHleT  QUIRLTHL T Gumym’ i s&le
UrTTOIED. Qg Fadlug w?

\y Karl Marx (B) Max Weber

SITTE LDTTEGEL Guwsev QauLiir

(C) Robert Park (D) Louis Wirth
FTUfL LT gruilev &flig

(E) Answer not known
eflenL GgMuweiichenco
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86. Social stratification results from a struggle for scarce resources in
society
FP&SED e dter LDHMTEEH®D cueThE@R&sTen  GUTTTL L Sdler  ellenareurs P&
SIP&Gupan dlamardpg. Gaal sflwg wri? :

(A) Marx Y Weber
(DT 6o Geuurr

(C) Robert Park (D) Louis Wirth
FILTC LImiTé eruilen afid

(E) Answer not known
aflenL GgMuwieddveney

87. “Violence is the midwife of history” whose lines are these?
euarpenp eremLigl surnpilen wmsgieuss eremy) salug wmrr?

{V Marx (B) Mass

LDTIT& 6 DTG
(C) Weber (D) Durkheim
QeuLifr EALE: AL

(E) Answer not known
eflent GsMwueidens
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38.

Match the following

Chairman of Panchayat Raj committee
UEhsTUSg T (&L Seneoaur

(a) L.M. Singhvi
L.M. el

() G.V.R. Rao
G.V.R. yreu

(¢) Ashok Mehta
21Gsns Cgsm

(d) Balwant Rai Mehta
wedeups ymia Gugg

(@ M) (©
(A) 3 4 1
4 3 2

© 3 4 2
M 4 3 1

(E) Answer not known
sllenL Qs flwaelerene

(d)

S T i e T O

Year
<6007 ()
1957
1957
1877
1977
1985
1985
1986
1986
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89. Match the following:
ST aibHenm Qummsgis

Match correctly the agrarian classes, classified on the size of cultivated

land
2 e| by flamsealsn wigiuamd olagrdseafe UNGS(@EHL 6T LLM(BEEIs.
(a) Big Farmers 1.  2-4 hectare of land
Cuflw eleusmulser 2-4 GansCLr Hleid
(b) Medium farmers 2. More than 4 hectars of land
B0&57 efleugmulser 4 QansGL(mé@ b G
(c) Small farmers 3.  Less than one hectare
Gnle deusrulsar 1 Qan&Gme@h Gamneuts
(d) Marginal farmers 1. 1-2 hectare of land
eflaflby Hlevey efeusrulaer 1-2 QansGLir Fled
@ G (© (@
A 1 3 2 4
W2 o 4 3
(C) 4 3 2 1
(D) 3 4 1 2

(E) Answer not known
ailent  Gsflwelidene
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90. Which one among the following sentences is not true to rural society?

91,

Gemraumid sappsefied ergy Symoliyp sppssdnE AUTBHSTE ?
(A) Rural society 1s a unigroup society
Aymoliym sepsDd @(h @7 G Fipsd
(B) Ethnocentrism is prevalent in rural societies
Aoy Fapshsalle @erbuiargd idswnns 2 eens)
{(y Rural society provides more opportunities for social mobility

Arroliyp  spsmsd  sups  HleoeluuiasE fls  eumluLsmar
aupmiGSl e

(D) Occupations are mostly unspecialized in rural societies
Aprolypiseid Asmfdadr Aumburad WrsGwswons @imriLgoene

(E) Answer not known
allen Osflweiwame

The community Development programme (CDP) was launched on

saps Gubur_ (g Srb (Higll) Siey T misUulL g
(A) 22nrd October 1950 (B) 2r»d October 1950

220d &G rur 1950 2nd 5@ _mur 1950
(C) 2rd October 1951 (Y 2rd October 1952

2nd o s5GLrur 1951 ond ou5GLmur 1952

(E) Answer not known
e Qzfweiidema
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92.  Match the following :
S esrL_eubenm QuUIHEES

Author Village study
2 HMwirr &ymo s rmigd
(a) A.R. Desai 1. India’s village
A.R. Ggemi @ pSlwrelier iy
(b) M.N. Srinivas 2. Peasants struggles in India
M.N. fefouns Qpduw elleusmisefien Gumyml L b
(c) S.C.Dube 3. Rural profile
S.C. s1CGu glgmo swellumibd
(d) D.N. Majumdar 4. Indian village
D.N. inggeigmir Qndwus Srmoon
@ (k) (© (@
W:2 1 4 3
(B) 1 2 4 3
) 1 2 3 1
D) 2 3 1 4

(E) Answer not known
aflenL @5 flweleane

93.  Who has initiated the study of rural society in India?
BpHwurede Symoriym P& LUHHw e Wiy CsrmsEliu g >

( Henry Maine (B) Dube
Camerr® enwer HGL

(C) Srinivas (D) Marx
Wheleumeiv LD &e

(E) Answer not known
aflenL GlgMuwielcrena
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94.

According to Article no child below the age of 14 shall be
employed to work any factory or any hazardous employment.

@hdu rfluer ewbluys FlLsdear ahs eersSlen Fp 14 euwdpHELulL
Gpmgadr Gsmfle sreasallGon, g ussrer varflublsfCor vaflwinisss
Fal g eram QaTedlpg 2

A) 23 (B 24
agrs 23 \y

aprd 24
(C) 22 (D) 21
ayrg 22 ayUs 21

(E) Answer not known
aflent GsMwaidrana

Kidnapping children and forcing them to beg in the streets is called as
fprirgeer s Qgmssaida Hems ahiss cupynsgieug

(A) Physical abuse (BYf Social abuse

2 L& THwrer gepdrCursd sepa gleaulrGunsn
(C) Emotional abuse (D) Sexual abuse

o anrirss) glagrCunaid Lumelwé gasdrGunsd

(E) Answer not known
eflent QaMuialevensy
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96. The agency which declared the world day against child labour is
Gppey Aemflaneisenée adimar 2 w5 dabms oasfss meuss blmeuarid
(A)/ The International Labour Organization
FieuGee Gsmflemeri ey

(B) The National Labour Organization
Cgélw Qamfereri ejanivliy

(C) The Global Labour Organization
2 osemeilu Agmflereri enioriL

(D) The Non Government Organization
S{[& FTTT HeninliL

(E) Answer not known
aflen GgMweldvency

97.  Which state has more child labour in India?
Gpdwunede Guhams Gsrferarised wifsb o drar wrbled erg ?

( Uttar Pradesh (B) Bihar
2 570 GnCged Samir

(C) Rajasthan (D) Madhya Pradesh
7T 8Q 610 & &b widw 97Cs&b

(E) Answer not known
aflen_ Qzfweldena
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98. Arrange the chronological order type
Epsar_aupeny sre auflevsiivig euflensiiuBdgs :

99.

(1)

@)

(3)

(4)

(A)
(C€)
(E)

Child labour (prohibition and regulation) Act.

Gpims GgmfloraisErésTear (LTGSTUIL| OO @ORIEG AP®D) &L LD
National Policy of child labour

Gphag Lgmferaisensstar Csslwu Candrens

Bonded Labour Abolition Act

Qarggigaw Ggmbleomert el &L 1b

National Commission for Protection of Children Right
Cadlu GLHensHeT LUTGISTUIL| 4enerTuiD

(1), @), (3), @ F®. 6,0,
@), (3, @, (1) D) (3), @, (1), @)

Answer not known
allenL Ggflwedwenc

Indian Expert Braille Committee worked out common Braile code for
different children in all Indian Languages, known as

@pdw  Myewrt WAl G Siewargg @pHu CwmblsErdEn  Cungeurer
GGywed eram @Ml epL o (Houmsdluig)

A)
(©

(E)

Braille press (B) Braille India
W@ rwed &esLD GCruwed @mduir
Marathi Blind Bharati Braile
WITSHW ST umyd) 196 el

Answer not known
cilewL Qgflwuaidame
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100. Which is inconnected in abolition of beggary in India?
Shser_eupmiar 9sems eT({ILIZ L 6 Qgm_mbdeng &L kser ererLia

(A) Bombay beggary Act — 1959
umbGu WsmeQuBss6 s6G LY FLLib - 1959
(B) Hyderabad beggary Act - 1977
mansyTung 9smsQuBsse® sEIY LD — 1977
(C) Uttar Pradesh prohibition of
beggary Act - 1975
2 58l7 rGss GémsQuBsse sEUY sl L — 1975
\(y New Delhi beggary Act — 1966
Hg Feodll GemsQuB s O & Lib — 1966

(E) Answer not known
aflen Gsflueidena
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101. Which of the following incorrectly paired?
Bpae_eunbler 6ig) seupnas Elenan g ereTs) ?

(1) FAO — Food and Agriculture Organization
2_anTey WHMID HEUFTL LI

(2) UNICEF —  United Nations International Children’s
Emergency Funds

g&8u1 pripsefler sTaulss ELbOSSET Deusy FLLIb

(3) IMF — Infant Mortality Fund
Gpbes Gouy H
(4 ICAO — Indian Civil Aviation Organization
Eipdlwer Fafled ereflCuige enioliL
W (1) and (2) are correct (B) (2) and (3) are correct
(1) wppw (2) sMwrerg (2) vpmind (3) sMwrers
(C) (1) and (3) are correct (D) (3) and (4) arc correct
(1) wpmb (3) sflwreg (3) wpmb (4) sflurarg

(E) Answer not known
eflen Qgflweiidae
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102. Arrange the followings into chronological order
Epsaamainenn sreveufleasuieryg auflamsiu(sss.

(1) Child Labour Protection Act
Guhas Csnflerenisd gL LHMID UMESTLIL UL (b
(2) Prohibition of Child Marriage Act
©phos Flmpwer gaL & b
(3) Child Trafficking Act
GRE®S H1 F50 SHLIL FLLLD
(4) Suppression of immoral Traffic Act

@p&5Cs_rer CunsEamer 5H&EL FLLLD

W (1), 4), (2), (3) (B) (2), (1), (3), (4)
© @, @), 1), D) 1), 3), (4), (2)

(E) Answer not known
eflan QgRuiafdene

103. Which of the followings is not connected with the causes of emotional
abuses of children?
Gybassmer  oanssl  fdlld  gewdrCuran  Qeleushsrer  Epsan
FryeRTrIsEn 6 Gsnibdongg e ?
(A) Deficient parental control
@epurparer QuHGmrT s Hriun@
(B) Non-Cordial relations
BOQINE| GOTS 2 MeysH6r
(C) Mal treatment
seummer F&léms
Lack of support
2DETE| @lEeTenLo

(E) Answer not known
efan Gsfluiefeanen

Sociology 64



104. Which section of IPC deals with child prostitution?
Qpdlu sear_ameans sl sdlen arhs Gfley Gwhens ellussmsens und smmmg ?

(A) Section 370

(E) Answer not known
afler Ggflwaelldvena

(B) Section 371
Gfley 371

(D) Section 373
Gfley 373

105. The term ‘Child Labourer’ is considered equivalent to the term

106.

‘Gupas Qgndeoran eeub Genddhe @aeanwne Gend

(A) Wage labourer
g6l Glgmeomer

(C) Bonded labourer
Qanrgglenn Ggmplemar

(E) Answer not known
aflenL Csflweidena

The supreme court ordered
Rehabilitation welfare fund’ on

‘Gyhems Qsmferemit  1dmeTHEY
Wn96s mrer

(A) 10th October 1996
26CLmur 10, 1996

(C) 10th October 1995
2&CLmuir 10, 1995

(E) Answer not known
cllen Gsflwelildena

Morking Child

Cauamablawuwyb GLHmg

(D) Street Children
QgxmCaunrs GLpHEMmSSET

to setting up of a ‘Child Labour

po Bl oeowss o sepSoapid gy emewt
,@/10‘h December 1996
geuir 10, 1996

(D) 10th December 1995
weur 10, 1995
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107. Child Marriage Restraint (Amendment) Act was implement in
GPpass Hpwand soL (HHSsn) b SPOLESSIULLE —
G

(A)

(©)
(E)

1956 .‘yl 978

1986 (D) 1989

Answer not known
ellenL Qzfweldrena

108. When was the female infanticide Act was implemented in India?
GQuatr fas Qasraas sHLILF LD ehs gew(h demer(® eurliul g ?

(€)
(E)

1870 (B) 1970
1980 (D) 2010

Answer not known
aflent @gﬂﬂu_mﬁki)mm

109. On 24 January 2018, the Ministry of women and child development
launched a web based rapid reporting system for

CuemasT wHHLD GRHos Cobum'ypeE gereuf 24, 2018 wem Qs msiur L
Beeruw eufl yami S Lib

\(y Scheme for Adolescent girls

(B)

(©)

(D)

(E)

Sociology

@drEslye w Quer GYHmsssTag

Scheme for Widow women
eflgeauls Quans@ssaTans)

Scheme for Acid attack victims
Srreflund eSéeme urglgsliu GLmpsarears

Scheme for divorced women
efleursrgsrer Ouamns@ssaTans)

Answer not known
dlen_ ClgMweddene
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110. Which i1s not the negligence of a child from the followings?
Spsar_aipfle ag GRE®S Upssaily weng

(1)

(11)

A child’s basic needs, such as food, clothing or shelter are not met
(or) they are not properly supervised

GREDEEEREE slumL Cpenaisar wmiliLg) SBIFMEUF 2 e, Benl_
WwHMID @HLALLD

A parent doesn’t ensure their child is given an education

BLPE®SSERESE (Wpapwrar soall GunpGomrmed WwmriLg)

(i11) A child is given proper health care

(A)

(E)

(POPUITET LO(HEGIe cUFSIBET GULPKIEG6G

(1) only (B) (i1) and (iii) only

(1) w @b - (11) whHmubd (111) v Gid
(i11) only (D) (1) and (11) only

(111) wr b (1) wpmd (i1) wL_FHib

Answer not known
aflenL_ Csrluiefdveane

111. The Hindu Adoption and Maintenance Act, 1956 was enacted on
@ng s560sEUY whpb urmeflviy &b, 1956 GTEUIM] 2 (HEUTGTF ?

VZN December 1956 (B) 21t November 1956
webuir 21, 1956 seubuir 21, 1956
(C) 215t October 1956 (D) 21t September 1956
2A&6C_muir 21, 1956 Ger_mbur 21, 1956
(E) Answer not known

eflenL Ggflweideame
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112. Which statement i1s/are wrong under the Adoption Law, the strict rules
are there (is)

T TS wib/eunsd Lkisear seuprameal 5505HLIY L kisafler gL UG,
erenau@wisvaid GaruppriLGEamar.
()  Single males could also adopt
Hmwamonsns ,a@rsEsh 556080 Es0M0
(1) Females only could Adopt
Quesraer 10" (G 5608065 @web
(1) The age difference should be 21 years
Boansed o Cu 21 auug disdunsd Qusse Saudluordpg
(iv) The girl should not have completed the age 20 years

8650 ILg Quesr @uheswmnbrdea 20 cuwg yisd odWmés e g

(A) (i) and (ii) (B) (ii) and (iii)
(@) wpguo (11) (1) wpgo (1ii)

(C) (i) and (iv) (@QY(ii) and (iv)
(i) whgn () (il) wpgo (v)

(E) Answer not known
el QgMwaildena
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113. Match the following :
Spearaiben Qurmrsss

(a) Surrendered child 1. Temporarily own the responsibility
of particular children
RUULESIILIL L GLheng @O L Gupengsetler GQurmiend
SH&TOIHLNG DeusHg eTeTeTT
(b) Foster care 2. Deserted by his biological or adoptive
parents
euaTirLLy Ligmn iy 2 lflwe 2deg eueritiy QupCprrmd
&l L LIl Leuir
(c) Abandoned child 3. Alternate care in the domestic
environment of a family
sl L @pbhas @R GObusHer o @ padld wmhoy
uigmo iy
(d) Fit family 4. Who is relinquished by the parent or
guardian
QuTBSsLIe &6 buLb QuHCmrit g LTgsTeL)TD
UL eMN&Es UL L el

@ M (© @

(A) 4 1 9 3
(B) 3 1 4 9
(g/ 4 3 9 1
D) 2 1 4 3

(E) Answer not known
allen GlgMlweleoane
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114. After the demise of the husband of Mrs. Rathi was attempted to continue
the criminal activities of her husband in her village. The court had given
the final decree of her illegal activities and sent to jail for a life sentence.
Her only son who 1s aged 10 years was isolated from the family relation.
In this situation he will be sent to
Smwd rsuler semeuflear wepsinpel GApe <ejg saueflar @hn Gewe

bLelgbsaeme Uy Sgmosdad  Qgrr pupdssmr. BHoarpd  eirs
s L ellCrrg pcugsmssmen allgrranan GFlg EMS SLMamTe 6l (HEE 2bLer

gamL el euphdl Ampse agidug. @QéGpadle searg 10 awgelw @Gy

wsar GhHby e peildipbg gaflaw LESS I TET. @QES Gpblmauld e
Si@ILUiL(pb @i
(A) Observation home (B) Children’s home
aaaTant’1 ] Gléeauid GLREDSEHET @b
(C) Correctional home Moster home
Erdl(hés @evevid QUGTITIIL| @éeuld

(E) Answer not known
allen Qgfweldame

115. When a Juvenile having been charged with the offence is produced in
@b sTL LUl L Aprf, GHDERFTLLLIULL ajL6T o LHSSLUED @LIb

(A) District child welfare committee
DIl L GPHAOSEET Had (&(1p

(By” Juvenile Board
@&Doyfl Aprrser airfluib

(C) Near by police station with its jurisdiction
aurbbudemasEe eurtiGunib sreud Haewid

(D) District court

rail L BAlnetnLd

(E) Answer not known
allent  Gsflwedldenen
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116. When was the Rajiv Gandhi National Creche scheme (RGNCS) was
launched?

g9 s1hdl  Csflu  mupessar  sruushb  (RGNCS)  aps  weyen(d

QarLrmsliur L g ?
(A) 2004 (B) 2005

,@/ 2006 D) 2007

() Answer not known
sl Ggflwaideama

117. Jan Andolan Component activities are
et pCeTaalcs oL mdlu Qeudur@aer (Heu@mear &ES6T G)uissh)

(1)  Samudhaya Valaikappu (Community Bangle Ceremony)
F(LPSMUL SUSNETSTLIL

(11) Anaemia Awareness programme
@rgs Cerans ol flLL e Tay

(111) POSHAN Maah and POSHAN pakhwada celebrations
Guragern wrgib wHmib Curager <y e@{H CsramTH e

(iv) Promotion of Modern food habits
HeI6 2 airesener 2ad el $se

Find the most appropriate choice

silwmer eflenerwd CaibblsE

(A) (i) and (i) only (B) (i) and (iii) only
(1) whmb (1) LD (11) whmud (111) 1w Gib
(C) (i), (i) and (iv) only Mi), (ii) and (iii) only
(1), (1) wHmb (V) wl b (1), (11) womd (111) e GO

(E) Answer not known
aflen_ Gsflwueirena
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118. When was the Noon Meal programme started in Tamilnadu?
SOPHT g6 wHu 2 ey S b euGUig geumsliulLg ?

(A) 1982 (B) 1983

(C) 1984 \(9{1925

(E) Answer not known
allen GQgflwaloame

119. Match the schemes and services :
Spsar £ kigameyb 2igar Cemeusamearnyyd Qunirdss :
(a) Anganwadi services 1. Community baby shower programmes
2IRIs6rauTy GCeemeuser FAPSTL QuaneTHTIIL| &L Lb

(b) Child protection services 2. Smoke free atmosphere
GLpang LrgaTiL Cemaelser Hensuderen &HMIEEL®

(¢) Poshan Abhiyan 3. Provide day care facilities
Guiragmasr <y Auwinesr GPHMG SMILIG eusd

(d) National creche scheme 4. Prevent and reduce under nutrition
Csflw wpeaaur sMiLs ol | 65655 G@DUTL L & D556 hHy b
doio GSDDSGD

(@ () ( (@
@A 1 2 3 4
2 | 4 3
(C) 3 4 1 2
(D) 4 2 i 3

(E) Answer not known
aflen Gswelldwveane
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120. Which institution will take care of trafficked children, child beggers and
children affected by natural disaster?
Spsar  fpeuamseli® g  sLssULLL  GRE®SsET,  GNF@sCuliEED
GYhmsseT oML  Qubess FhprseTrdr UMFESLULL  GYhags@mae]

urmof&slermg) 2
(A) Children home Open shelters
GRE@SEET @b Anhs SienL_&sLd

(C) Specialized adoption agencies (D) Special homes
WrsCus 5505HLIL (PE@WLSET Apliy @éwmigeT

(E) Answer not known
eflen Qg Mwefehena

121. The name of the school designated for the training of the non-offender
children was established at Chennai
Qeerenanuied Hlpieuliul L GDDLDD GRHEnSSEh&E Ter L pEssrs ennEsIILI L
vdreflufesr Quiwifr

(A) Correctional school (B) Vocational school
FTHmssls LieTar GQgmflnuudhé Leref

(Cy Junior certified school (D) Training centre
@erauit erampaflsaliul L LaTef] ulpHé epwwib

(E) Answer not known
eflent Gsflweleane
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122. The moto of the mission vatsalya is
urssowm L sder padlu @H&Came oremen?

V Leave no child behind
Thes GPHag@uiuh 9 ( 6l rgrser

(B) Empowerment of women
CuamsEnsE dsanwaiggsea

(C) Eradicate poverty
cupienenw gpLflse
(D)  Protect the rights of transgender

wrhnurdlargser o Maweanwit] LTSI & TS5

(E) Answer not known
eflen QgMweddene
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123. Chronologically arrange the establishment of NIPCCD regional centres.

NIPCCD Qpmpdw  evvwrisemer  flpelw  Sy@mger  Sigluenc il
auflensiu(Bs5)5.

(a) Regional centre Bengaluru
Qrrhdur ewowib, GUkSEHH

(b) Regional centre Mohali
Grrhdw ewwid, Gwrapmed

(¢) Regional centre Guwahati
Qurpdw epowid, sa|&rss

(d) Regional centre Indore
Gyl enwibd, @b

(e) Regional centre Lucknow

Qo ewwib, esGernr
@ (@), ®), @, @, © B) (@), (a), (@), (), (b)
& @, @, @0, @ D) @, @, (), @, ®)

(E) Answer not known
elanL Cgfluelaeme
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124. What are the four types of rights of every child envisaged by UNCRC?

UNCRC

GTGITEUT 7

(a)

(b)

(c)

(d)

(e)

(A)

(€)

(E)

Sociology

Right to survival
Yeppuughsrer 2 feow

Right to protection

urgisminphsnrer e Meapio

Right to development

Gubum gpsrear  Manwo
Right to participation
uRGspughsrear o Menio

Right to knowledge
2pleflpsrar o fNanio

(a), (b), (c) and (e) only
(@), (b), () whmbd (e) wi @G
(b), (c), (d) and (e) only
(b), (¢), (d) wpyw (&) v Ew

Answer not known
aflen QsMwefdwane

76

fpeod  gelblaimm GRIDFHE@REG 0N BreE s 2 M nser

(LY (2), (b), (c) and (d) only
(@), (b), (©) wppw (d) v Ew
(D) (a), (c), (d) and (e) only
(a), (¢), (d) vpmib (e)ol @



125.

126.

Poshan 2.0 focuses what?
Gunegren 2.0 ereng enwWLLRSZHE M) ?

(1) Maternal nutrition
& 1GLM 2er’ L 558
(2) Infant and young child feeding norms
fla whHmib @earerfnir 2 are| ellSlser
(3) Improvement in the sex ratio at birth
Wpuler sigtiueLwia urdler alflssms CLbUBHSSHISO

(4) To check dropout take among girls
QuamGpbmssaia @aLBnnd aldssms LNGeTdlsze

( (1) and (2) only (B) (1) and (3) only

(1) wpgid (2) wiGib (1) wpmid (3) wLED
(C) (3) and (4) only (D) (2) and (4) only

(3) whmib (4) WD (2) womd (4) wWLED

(E) Answer not known
aflenL. Gaflwelldema

Which year the national commission for women setup as statutory body?
Casflu nsefl Speamubd # L SeWwIUTS Ths [ Blpeuiiul L g ?

(A) 1990 1992
(C) 1994 D) 1996

(E) Answer not known
ellen Qaflwalldena
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127. Arrange the steps accordingly to promote awareness of foster care
elariy seuafluy upflu eNWPULaTTenel CubuBssusHE THU bl 6Un Samasman
alflensu(HEg15.

(1)

(2)

(3)

(4)

(A)
(©)
(E)

Sociology

DCPU assesses need in district

wreul L sglar Gsemeuamw DCPU wdudpdng
Provide resources to carry out the plan

SILLgms CswdUBSS USTTRSMET QULDkIE@5H

Make detailed plans and policies for specific task

@A uaflsenssrar ol feurar gl rismeru|h  QsraresaamaTuid
2 (HeUIT&(&HGe)

Set clear goals and strategy for attracting specific number and
types of families

Qgaflaiter @aé@ad LoD = shamer GHIUAL L cameflléens wHmD
GObU eumssmaT mirlILSHETS 2D (DS FHED

Review the plan and achievements using SWOT

SWOT uguumiey apewb S b HDID FTHmanseen WHILTLE Q&iise

(1), (2), (3), (@), (3) ®) (1), 2), (4), 3), (5)
(1), (4), 3), @, () 0. @, @, 3,6

Answer not known
eSleniL_ Qzflueldama
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128. The social defence programmes providing the following services
sops ungisuy Sl Spsean Cemeuseamen eupni@Eng).

\(y Preventive, Protective, Corrective and rehabilitative
sHUY, urgsmiy, HmSSD LHOID LHeUTHey

(B) Protective, rehabilitative, Corrective and facilitative
urgETIY, woeuTPey, HHSSD HmID ereflgrésed

(C) Corrective, Creative, Cohesive and rehabilitative
Smssb, Yesliyieunner, @sdlenaalrar HMID LNETDHE

(D) Preventive, Inclusive, Cohesive and corrective
sOLIL, e eterL&Sw, gidamseunar whyb SmssDd

(E) Answer not known
e GsAweldame

129. Which is not the activities of child welfare unit?
Spser_eupile g Gphassdt pe Efleler Lamfl e ?

(A) Prevention of child marriages
@ppes Howarsmss sOS80

(B) Abolition of child beggery
Guhassdr 9smsduisen sl aulssd

(C) Elimination of child trafficking
GRbpog sLHsm05 5055

( Providing monitary benefits for needy children
Coaneuwyerer @QRbanss@hs@ L Liew 2 Gall aupmki&se

(E) Answer not known
cllanL Ggflwalicvene
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130. Social defence is the protection of society against crime through a

systematically organised and coherent action by both _ and
society.
FOPHL LITEISTUIL] 6TemLg, __ Hmid _ FUPSLD @QrERTI@Ib (PHWINS

PRESDOESIULL  WHYD  psfewsourar pLaigsmslar  ppaid GG
THITE SPFFHSL LINGSTILSTELD.

\@/ State, Civil
wrilew, sapsgdariear safl o Nawadr EbuBSLOTET
(B) Tribal, Urban
HPBRIGit, BSTLD
(C) Rural, Urban
Slyroliyp, B
(D) Urban, Civil
B&TUD, sepasdlanfian sofl o Mawser sbubswren

(E) Answer not known
elen Qs Mwaelldena
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131. Match the following civil society organizations and its functions :

EpaaL @Guawnd Fps Fpeambsmer s Lafla@pLer Cummsgls |

(a) Room to read 1.
Room to read

(b) Care India 2.
Care India

(¢c) CRY 3.
CRY

(d) Smile foundation 4.

Smile foundation

(e) Save the children India 5.

Save the children India

@ (b © @ (@

@Ws 4 1

(B) 3 2 1
C) 4 3 1
(D) 4 3 2

(E) Answer not known
eflew QaMuiafeana

or Ot O o

— B = O

Ensure child rights

Gyhamsser 2 flawamear 2 pauuOSgieug
Welfare of unprivileged children and
family

uUTUUIUDD &WHeNEseT MHnILD

G hHbunseiler Hes@hssneg)

Focusing on gender equality

ureler swHgeusdler seuaid Cegissidns
Empowers marginalized community
eQaflny Hlenew sppssdanar sidamiuBssisd

Improve childrens lives

Gwpmssaller empanss Ginibu{sgeug
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132. National institute for empowerment of persons with multiple disabilities
established in the year
ueGay @uermn e der pUrsmar 2flsmruLpssieushstar Cadlu Fmeuard
g arh Cgm kil g).

.@/ 2005 (B) 2001
(C) 2002 (D) 1995

(E) Answer not known
aflen_ GgMwefdane

133. Durkheim discusses about the types of solidarity. What are they?
giiblawin efleundssn eppewla amssd e oo WITene ?

(A) Fact and unity (B) Unity and solidarity
2 arenld MMt ehmienio @OmierD LHMID 58 6w T6y
(C)  Suicide and fact Organic and mechanical
gshEarena wHmID 2 @rewo il oo Guikdy

()  Answer not known
aflenl CsMwelaana
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134. Choose the correct Pair :
sflwner Qurmsshsamer seam(p Gy :

(1)

Auguste comte -

TR 1=V a;rnb‘&,

(2) Emile Durkheim —
erdledl gyl &b

(3) Max Weber —
@ éev Geilium

(4) Karl Marx -
STIE) DTS

(A) (1) and (2) are correct

(1) wpmd (2) v b &

{9/ (2) and (4) are correct

(2) whmybd (4) wr @Eib &f

(E) Answer not known
clen_ Ggfwadlerenay

Erfurt, France
GTTaBLy T, Slymebrah
Epinal, France
erlblamed, Gymeiteiv
Derby, England
GLmd, @udeorbg
Rhenish, Germany
Qrafley, Claoe
(B) (1) and (4) are correct
(1) wpmbd (4) w P &

(D) (3) and (4) are correct
(3) wihmib (4) wI [Hib &

135. Durkheim defined sociology as the science of

girCslb sepseduiema

(A) Society
FAPEHLD
(C) Social system
FONE 2{enoLiL]
(E) Answer not known

eflen Qaflwsierenc

iPlaflwiecd eremn eUaTUMISSTH.

(BYf Social facts
Feps GDWUEDSET

(D) Social process
geps Qewdapem
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136. Division of labour is found in

Gsmplereri e, sreaviu@eg ulev.
(A)  Mechanical solidarity (B Organic solidarity
Qupdlrefluaner ghmeno Capur@assr Qanar. @bhmew
(C) Social solidarity (D) Solidarity
FPs @hpeL @D

(E) Answer not known
aflen QgMuwieddena

137. Suicide is an indication of disorganisation of both individual and society
said by
shblsrme earug  gaflvaflser OO &epsd  @ITaEmigen  g(phidlaren oule
SiPlGPHlungb saduwet

(A) August comte Murkheim
3iseng CambGL &IMGsWib

(C) Karl Marx (D) Simmel
&6l DTT&eE Sibed

(E) Answer not known
allenL GQsflwelldwama
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138. Which of the following was the correct answer mention the person who
introduced positivism in sociology?
Qereumeuanaupdled erg  aflurar ufw, sppsefudd CproepaTFL-eaILImS
Sifpsbd Qewgeur wri?

(1)

(1)

(1)

(iv)

(A)

~

(E)

Karl Marx
SITT6D LDTT&HGE
A.R. Desai
.. Capemi
Auguste comte

&6V STIDL

Simmel

Siboed

(1) only (B) (i1) and (iii) only

(1) wLEW (i) wpmid (1il) L EL
(i11) only (D) (iv) only

(1i1) wi b (1v) wr @G

Answer not known
ellen G]g,rﬂmeﬁ\sbma)

139. According to Comte, the basic principle which is associated with the

theological stage is
sTHGL-ar Uy Gapuiwed Blaewar bgm el w SiquuamL QEmeTens

(

(©)

(1)

Love of family (B) Mutual co-existence
GO OUSH e e LJEOLIT F&HGUTLREY
Universality (D) Legality

o QEETTEHW SETEnLD gL gems eTuppid et

Answer not known
eSlenL @grﬂu_lsﬁlabena)
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140.

141.

142.

Which subject is at the base of Comte’s hierarchy of sciences?
CombCL-aflanr  blafue ugblee Qsrd@msurd  eplue Ls  QsrEr
<iplalluidy ergy ?

(A) Biology (B) Sociology
o Wl Mweb sop&sedwied
Mathematics (D) Physics
seanflgld GupGue

(E)  Answer not known
eflenL Qgiflwaldene

In which the thing is observed as how the present social laws are
affecting the society?

adlé sHCuremsy  sups s riser pes@s  areiauny  uTHsdng  eraLg)
salallés U Hpg 2

W Social statics (B) Social dynamic
Fops blavassenanio Fps @wisseliwed

(C)  Social control (D) Social change
&Ups S (Huum(p) &0P& DTHDD

(E)  Answer not known
aflenL s flweldena

Positivism is the way of thinking based on the assumption that it is
possible to observe social life and establish reliable, valid knowledge
about how it works said by

urélyelleh ererLg FPE QUTDEMS®LI S6ugTantlss WPWD eTehD signiiomergde
SgLueL d Apdagn apenp LOMID <248 ereloum) CewduGdpg erarLams
ubHdlw BibusLres &Ml rear Siflewer Bimeiluig), snbluiea

(A) Herbert Spencer (B) Durkheim
Camrufm’ sv@uérs Girtlasuwih

(C) Max Weber W August Comte
Gusen Qeuur &6 GmhGL

(E) Answer not known
eflen QsNwaldeana
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143. According to Karl Marx, society is divided on the basis of
wiriisSler smESHeTUY., FUpsD 6THe g e udlld Af&siul Hererg ?

v The rich and the poor
LeRTESTTTSEET DML € enLpsar
(B) Religion and non-religion
0% LHYID LFLOD
(C) The rich and educated
LRSS TTHET DHMID LG SFeTEHET
(D) The rich and religion
LTSS WHmILD 105

(E) Answer not known
sflenL Ggflwelldven

144. Who among the followings said “Every class struggle is a political
struggle™

“@e1Geur s aifdsl GumTLLpb i7élue Gumrm_L G’ eremy &ndweli wim?

(A) Mahatma Gandhi Karl Marx
D&TSLDT SMHE SiTed LOMT&G

(C) Sardar Vallabai Patel (D) Jawaharlal Nehru
gigmi eudeumi 11" GLa sausTaTe GE(,

(E) Answer not known
eflen Gsflwellcvenc
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145. “The relatively large-scale organisations with specialised functions
loosely tend to be called bureaucracy” is defined by
Fpuy Qeweurpaames Qsmer U Learalled Qufiw yereSeTar Blinieuariiser
SFEMBGUD wTiibss Gy epsstiLRamer, GTEITLIg) 24,60

GUEDTIIMISSUILILL 5.
(A) Max Weber
Gué&e Qe
(C) Wallace and wallace
Gleueen wHmb Qeuesn
(E) Answer not known

eflen QgMNweiidenc

146. Match the following :
Spsameihepls QuTmHss :

(@) Primitive communist stage
Lgewwrar Gurg 2 e_ew Heaw

(b)

(c)
(d)

(A)
(B)
D)
(E)

Sociology

Ancient stage

uerenL L Hlenew

Feudal stage

floo rusgie Heve
Capital stage
epgar flene

@ ® © @
1 2 3 4
2 3 4
3 4 1
4 1 2 3

Answer not known
eflen. QgRwaddvency

DO
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0%

Talcott parsons
L TSI UNT&emen

(D) Raymond Aron

1.

Gruoear 2Crmer

Aristocratic land owners
drussieu Hlevew 2 Manio

Owners of wealth exploit the
mass of individual workers
Gedveugdler o Aenowireriser
gefliuc L Qgmflererisemen

ST (Heug)

No private property

seflwrt Qergsy Edae

Slavery system

246D (PEp/D



147.

148.

149.

1s referred as a “A type of hierarchical organization which is

designed nationally to co-ordinate the work of many individuals in
pursuit of large scale administrative tasks”.

crarugl @ Quilu eeelarar Hiaurss umismas Qsm reufd L

sepuisalar uaflaw erhdoarss LESSheLET augaIMDSSIILL L Q@ auams
LigiBlened eIy’

(A)

(©)

(E)

Action \(y Bureaucracy

QEwed LI S lEmrerssid
Power (D) Co-operation
SIS &Tyb &SI P

Answer not known
allen Gz flueldeme

The statement “The organic analogy which is the identification of society
with a biological organism” is given by

“sipspey eulflue o ufaggLdr sl wremh sreyd sflo @Dumﬁs” TG
sbenD euprSug

(A)

©

(E)

Darwin Spencer
L el e e Cluerer
Durkheim (D) Marx
&ITE&uih LDMTIT& G

Answer not known
cllen Glgiwelldena

Who gave the term social physics to sociology?
sopsellugsE seps @upilwed erar Quuwfc L eufr wrr?

(A)

©)

(E)

Spencer (B) Sorokin

el Lerarr Qamyréden
Darwin August comte
L@ b7 2 FGVL &SIMDL

Answer not known
eflen Qaflwaldena
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150. Spencer combined his functionalism with
evGlLisTaniT GeEwdur () aurssheaar asamiL 6 @) eanrsd nim?

(A) Rationalism (B) Asceticism
LUGSshe aimsb gimeurib
Evolutionism (D) Organism
LiflessTmo eungb o Wiflar oenioli

(E) Answer not known
alen Ggflueideame

151. “Change as a process by which social equilibrium is altered, giving place
to new equilibrium” is known as
gepe MHPL eremug) e Gsmit Hlapey @da o Faps sodlaeuledmbs
@aClarmy 1w sups soflowse oy ghihsdssndns B THS

Cam_umr(H
(A) Cyeclical theory \(M’unctional theory
Fond s Car_ump Gewuurl{p Camum
(C) Evolutionary theory (D) Conflict theory
ydw uflasmn Cam_ur gamanl_ Cam Lim(p

(E) Answer not known
aflen Gsflweddwena
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152. Derrida’s some of the key opposition with regard to binary opposition are
Gmew afiblaw Ggriiurs ALl fo wadlu adiblaasdr

(1)

(11)

Signifer / Signified
@Ouumer/ GolbHlene

Sensible / Intelligible
o anirAma/ 2 Bleydpen

(iii) Speech / Writing

Cués/er(psal

(iv) Haves/ Have nots

(v)

(C)

@ mLueuTseT/ @ msalrEaT

Passivity / Activity

Qewenmn geenn/CQFwHURDL e

(1), (1), (i11) and (v) (B) (1), (i1), (iii), (iv) and (v)
(i), (1), (il1) wpp> (V) (1), (i), (ii1), (iv) wppw (V)
(1), (i1) and (111) (D) (1) and (11)

(1), (1) whpiw (111) (1) wpgio (1)

(E) Answer not known

aflenL Qsflweilcens
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153. Which one of the followings correctly defines the concept of social
structure?
Qeneupouareuniler erps qemm &ps sLLawlber sméos sNwuns UM TWNISS MG .

(A)

(B)

(D)

(E)

Sociology

Socially assigned meaning to a particular set of behavioural
pattern

@ GHUGLL B ses PODEES seps fEluins gassiur L Quimer

A group of individuals, sharing common social background
aspirations and occupations

GQurgieurer  spst  Gataref, <o Gerossdr oo Qgmfldsmenrt
Ldlipg s @nn saf puisaiern &P

The enduring, orderly and patterned relationships between
elements of a group

R Gualar snsepsda_Gu Bass. wpepurer whHmb 6P MBI Tt
2 MeY&ET

A set of behavioural patterns shared by different cultures
CaueuGoumy serdsmyrise upd  Ldlibg Qanerend pL@s eopseer
GsmELiy

Answer not known
eflent_ QgMuieddene
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154. Which one of the following is appropriate meaning to modernisation
theory?
Epsar_supper peiarnwwrsaer Camumf eraruger CummeT eremer ?

(1)

(11)

As the organism evolves the more complex it becomes

<flsonar o Wflamsdr uflammowrgb Gurg idsworar  féadsmear
o GhTL M &S DS

When population is drastically increases development occurs

SiflsliLgurar s Agras eambib Cung eerés ghubdlns

(iii) When the society develops, the complexity increases

(A)

(C

(E)

Fepad auar(ph Guigl, HéswsEsd iflswerdpg

(1) only (B) (1) and (i1) only

() wL@Ew (1) whmib (11) v Hib
(1) and (iii) only (D) (1) and (iii) only

(1) whmib (111) wi Hid (11) whmib (111) WL GHbd

Answer not known
GlenL_ @g,rﬂuaﬁ]éosmw

155. According to critical social researchers, a process of deconstruction leads

to
saps spieurerigetlel sHSHILILLG DY &1 DL TaTLg —— GULPIGU&HE@LD.
(A) Destruction W Reconstruction
<ifley LemyanLoLiL
(C) Discussions (D) Violence
afleumg b aual(LpenD
(E) Answer not known

eflan Qgflwadlcdrens
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156. Match the followings :
Epsam_eupeap Qurmsss :

(a)

List |
U guwe T
Role set

ungdly QsmeLliy

(b) Role conflict
ungSly (piyetor

(¢) Role strain
unggly Hifly

(d) Role exit
ungdly QeauelCwpge
(@ () (o

A) 3 4 2

W2 4 3

(C) 2 1 3

(D) 2 5 | 4

(E) Answer not known

Sociology

eSlenL_ Qs flwelldena

2.

(d)

1
1
4
1

List IT

U igwied II

Detach from a role that was previously
central to their social identify

Fps SiLWTeTSEDE (pemanT WIS G nwhs
20 UTsHrsHdmpg elossd

Different roles associated with a particular
status

206 GOLELL spsevgiler QT
QeueuGeumy LITsS rriiser

Difficulty in fulfilling the role of one status
B0 Sipgavde ukies NeopGapmeds fywb
Role expectations of one status interfer

with a second status

20 Bleoawlear urgdy ediumiuyser Quer_raug,
Blevass @hsdpes
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157.

158.

“A social class 1s any portion of the community marked off from the rest
of the social classes” defined by

“@ E0ps aEsb eatLg sapssdlen ahsl LEGHUD LHD Fups suEGLLSH (B
GOESILLL FTGLD 6T uaUmISSeUT Wi ?

(A) Gidden (B) Horton and Hunt
bl L_abT anrir_er Gugib emesrt
(C) Ginsberg M/Iaclver and Page
gy evlLITé Qwémeui wHmb CLg

(E) Answer not known
alen Qgflwellcdoane

Whose statement is this?

The major role of education system is cultural ‘reproduction’
swel peapler padlu LG sorgsTy @earitumesh.

@)bs cuflaer gndluigl wimi?

Pierre Bourdieu (B) Karl Marx

Quwir Gumiiguy, &6 DMTEHE
(C) Emile Durkheim (D) Max Weber

erfled &T&Q&UID Cungev Qeuu

(E) Answer not known
eflen Gz flusidena
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159. State the reason for Malala having received Nobel peace price

e ES, e enwdlaanar Crrud ufle: auprisuL L g ?

()  Malala took surgery and rehabilitation in UK,
worer Ghdorsdd emeaea Hfsms bHmb LReTpe| er(Hsgsbba e,

(1))  She work with find in her name that helped Children’s education
around the world.
e wbamdlend oerer (&pHagsaer s@ell&E 2 gad amsta  sag
Quwiflé o erer sarE 9y _er e venflwrhodl .

(iii) She was promoting secular education for Pakistan.
UrElevsreéd WwssemTuDD soefanw oa1 @658 eUBST.

(A) () only (B) (1) and (ii) only
(1) v @b (1) wpmd (11) wC P
\(9/ (i) and (iii) only (D) (i) and (iii) only
(i1) wpmib (iii) wr G (1) wHmbd (1i1) w @G

(E) Answer not known
eflen Qgfuieddane
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160. Assertion [A] : The institution of marriage is not an inherent part of

caste.
apm [A] : - Swenrid eren Sieviolil sTHuder 2 @raTTiEE LGS Bide
Reason [R] : Apart from caste, marriage in rural societies is also

related to class, kin and clan.

sty [R] : snd sefly, Armoriyp Fepsusefldr gpwemnd eaLG QITESELD,
2 meSleri Hmb GOSgIL 6T T L uIg).

(A) [A] is true, but [R] is false
[A] sfl e [R] seum
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]

[A] wpmb [R] @reanGw &f; Gogiw [R]-wges [A] sstar sfiwnar
clerdsid 2@

,V [A] is false and [R] is true
[A] seum Cuogub [R] &f

(D) Both [A] and [R] are true; and [R] is not the correct explanation of
(A]
[A] whgn [R] @ran@o sfl; Gogib [Rl-eeg [Al-ssrar sflumar
elleTESEID Bjeve

(E) Answer not known
eenL Qg fluelievene
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161. Which of the following is correct about Totemism?
CLm Qs upd YGerameuarepfle a1l sflwireng) ?

(1)

(i)

(111)

(A)

(€

(E)

Sociology

Totem is usually an animal or a plant.

G @b Quigieuts gm e, SNDDF FTQITEMS Famid

It is represented by drawings made on wood or stone.

Bgl LIb odwg Edalld Qeuiwiul L aeruLkisearme &hlss LR SDns
Totem presents suicide.

GLm @b gplasraemwd GDI&EDE
() only - Mi) and (ii) only

(1) wr P (1) wHmpn (1) weGb
(1) and (iii) only (D) (i1) and (iii) only
1) wpmn (1) v Go (11) womin (1i1) wi G

Answer not known
alleni_ Cghwaeldena
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162.

163.

Following statement are true about ‘Myth’
Spaarauhann seubmiLer GarLiym wgL e durmbss

(i) An amount traditional story of Gods or heroes, especially, the one
offering an explanation of some fact or phenomena.

sLayer afGrréseflar Lamer w urpbuflu s @GHluune He o ar@nad
g flapesafie ¢m allaréswnEh

(i) Mpyth is primitive philosophy the simplest presidential form of
through a series of attempts to understand the world.

Qsramiotd  LHOID  LP@LWTET 556D  TETLE 205505 LB
Qsmateughsrer CSmmyenLu pupélsetien ailgeinm@GLD

(iii) Is a tendency of religion through and feeling.

wasdler Cuné@ LHMD 2 ariTa &HeT

(1) and (11) are correct (B) (i1) and (ii1) are correct

(1) wppbd (11) sAwirearg (11) whmd (111) FRwreng
(C) (i11) and (i) are correct (D) (ii) only correct

(ii1) owpmw (1) sflwrensg) (11) wr @b sflwurarg

(E) Answer not known
sllenL GaMweildene

State the person who recommended economic and cultural equality to
end caste conflict due to casteism

s Cuomsgm®  preays@s Gsrarhielr QuEBeTTSTT  WHOID  SEQTFET]
sosgausmst LAbg®Iss pumé @D a)b

Irawati Karve (B) G.S. Ghurye

sorreugd amiGeu a.erei. &G
(C) Dr.V.KR.V. Rao (D) P.N. Prabhu

Dr. V.X.R.V. gréu P.N. @y

(E) Answer not known
eflen QzMuwisiidene
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164. Match the following
Geneumeuaraihenm Qurpssalb

(a) Gotra 1. Lineage
Gotra U LenT
(b) Pravara 2. Marriage within one’s own village is
forbidden
Pravara gmauflen Qemps ArymosdpEer Hmwanid
Gaeug genl_Ganiwiul (erarg
(c) Sabinda 3. Clan
Sabinda @GeLd
(d) Village Exogamy 4. Siblings
Village Exogamy o Lai 9mbgeutser

@ ® © @
A 1 2 3
B) 2 3 4
3 4 1
M 4 1 2

(E)  Answer not known
eflen_ QgMwaeildena

el S Y
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165. Match the following thinkers with corresponding concepts rendered by
them

Sléreu(phd SbseemumenisEamaer =i rser QUPBIEIL B(hS& 5 ERL 6T QUTHSS6LD

(a)
(b)
(c)

(d)

C.H. Cooley
& .eré. Fnad

W.I. Thomas
W.1L. gmne
Emile Durkheim
erifled &iTElsWib

G.H. Mead

~ glerg B

(€)

@ (® @© (@

9 4 3 1
B) 1 2 5 3

2 1 4 3
M) 1 5 4 2

(E)

Answer not known
éflenl Qs flwelcrene

1.

9.

Role playing

ungdlrb eudlsdng

Looking Glass sclf

&SR Hermev CledsLl
Collective Representation
sl () GrdlHdsgieun
Definition of the situation
Gpilenaudler euanrienm

Role conflict
LSl apyerum(p)
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166. Assertion [A] : Personality is the product of both environment and

heredity.

smom [A] D@L TETUE  SHMFSLD  HmD  Lgbuey Gy
@il enamll Lim(merm gL

Reason [R]: Heredity provides the potentialities and environment

brings them out into a definite form.
srrand [R] : uTbuey sTaSumsmar alphGADE, LHHID GO DHeuban
Q@ Sl e augausdng Casrar® eimEng
(A) [A] 1s true, [R] is false
[A] sflwrang [R] seup
\(y Both [A] and [R] are true, and [R] is the correct explanation of [A]
[A] oHb [R] @rearmw &f wome [R], [A] Onsrer sfluirer aferésn
2GS0
(C) [A] 1s false, [R] is true
[A] saspreng, [R] &

(D) Both [A] and [R] are true but [R] is not the correct explanation of
[A]

[A] wppd [R] @rarGid &f spammed [R], [A] edbarar sflwrar aflerésid
<D{6DED

(E) Answer not known
allanL Csflwaldama
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167.

168.

169.

gets cultivated and transmitted from one generation to the
next through various forms of socialization. Such as in a verbal form by
our ancestors in the family, or through education or media.

0 ueGaum  uUMSWTET  FAPSLOWIDTESED  ELHEULD udfl_oul® e
sowwopddEps bss somapanse uiydng. GHOLUSEHL edmar b
panGanmiseT g soell Bdag 2 &b apab eumiGomfl euigeubdled.

(A) Individual (B Culture
SefpLIT SQTEFFMTLD

(C) Socialisation (D) Social equality
FEPSLOWIDTESE) &0D& FLOSGI6UD

(E) Answer not known
allenL Gsflwaeildena

The first stage of socialization is known as the

SAPSLOLIDTESEIGT PED SLL 1D ———— &T&r SiPlwutiuPEng

(. Investigation stage (B) Socialization stage
aflemyenant Hlanew FEPSLOWIDTESD Hlene

(C) Maintenance stage (D) Rememberance stage
uymofltiy flese bleneia, Hlena

(E) Answer not known
ailev CgMweildane

Culture as the “cumulative creation of man” said by
sansenyb “walsalar gUOLIESs 2 (haTssD eay s hermt

(A) Auguste Comte Malinowski
osavBL HmbGL wredCarmeusvdl

(C) Harry M. Johnson (D) Oghurn and Nimkoff
@mmifl. rib. gTeaFe Siner wHOID HliTeTl

(E) Answer not known
alenL GzMwelleoana
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170. According to the theory of gender socialisation which of the following 1is

incorrect?
urellwed sepswIngd Gamum iq e lemeumeuaraipile) ergy seuprans 7

(A) Social learning theory (B) Gender scheme theory
geps sHmed Camluim) umredlwed gL b Camun()
(C)  Social cognitive theory wamily theory
saps idleurpmad Cam_un() &®Gwu Cam_un@

(E) Answer not known
e GgMweidana

171. refers to a complex network of individuals who Interact,

share common values, and form organised communities.
Gurgiauren wdiiLsamar Ggm_ir | Caner@pid, L&l QaEmem@sd whmb

R(PRISEESL I L E(LP&HBIGE 6T 2 (HeU&(GLh B T&erl 6 fsserer
aueQweninlienus GNssng
(A) Culture {y Society
SEOTEEITLD FOPSHLD
(C) Association (D) Schools
EMmIGLD ueraflsar

(E) Answer not known
eSlenL_ Qs flweldana
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172. Who are all considered to be three fathers of sociology?
Spsar_aunie sapseluaan epary Shamssarasd shsUURSDTEE?
(A) August Comte, Karl Marx and Max Weber
&GV SMbL, ST LOMTEe WHMHID wrée Geuuit
Emile Durkheim, Karl Marx and Max Weber
arfledl grQswib, srid wrige wHHID Cusaeuu
(C) August Comte, Karl Marx and Maclver
2BV STDL, & WTéen, wHNID Glosemaweui
(D) August Comte, Karl Marx and G.S. Ghruye
@seL ML, s wirisd, whmd G.S. GGy

(E) Answer not known
e Gaflweiidena

173. “Sociology is the science of understanding, the meaning of social action”
is the statement by whom?
“sopaedud  erarLg  seps  BLelgsesuiar  @um@manery il bgy QameT@sLd
oflefluenEd eearm sadlug wr?

(A) Comte m eber

smbGL Geuur
(C) Marx (D) Simmels
LOMT&EU HIbe

(E) Answer not known
ailev Qg flwefcane
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174. Sociology emerged as an independent and separate discipline around the

middle of the
sepseilue @ seflsgieu LppIb seflurar LrCOfaurs Qeuafu@L Ll L STLD
(A) 20t (B) 30tk
20 sug 30 aug|
"9/19“’ (D) 18tk
19 aig 18 augy

(E) Answer not known
afen GsAwefdane

175. Who is founding father of sociology?
sepascilualien Hpeuar shes w?

\(y August Comte (B) Kingsley Davis
&6 SmhCi dravGa Gallev

(C) Max Weber (D) Kimball Young
Cinéeiv Qausirm &lbue wk

(E) Answer not known
eflen QzMwefdena

176. “The idea of role taking is fundamental to the theory of social self’
established by whom
UG qaOlUug uph Gursmar seps swgdlear Cam' unliger gL’ Wi

Qra.n;rul'_l_g,_[
Mead (B) Cooley
BE an Gev
(C) Davis (D) Simmel
Greafev AinG e

(E) Answer not known
sflenL QsMwedama
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177. Sociology 1s
FAPELD eTETLIg)

(A) Delibrate (B Natural and invariable laws
<=, Cavmaenamd @Ml w Queéy wHmIb wrmTallHe @k @i
(C) Practical (D) Functional
BevL_(Lpenmé & Hiu QeweurighEdlu

(E) Answer not known
eflen Qaflweidana

178. Which of the followings are the two types of definitions about society?
Spsraruepile) ahs QTar( @rumpssT supssams LDHILIS?

(A) Structural and evolutionary
FU_Leowly wHmd uflasmo euarmss]

Functional and structural
Qewdur @ whmib &L aLLiy

(C) Evolutionary and diffusive

uflermio OHMID LIFeUeTeT

(D) Structural and interational
sU_LanoliL] whond Ggm iy

(E) Answer not known
clenL Qg fwelerans

179. Who of the followings had defined ‘society as union of its self'?

Weneumuarsafled W ‘gepsd sars@arGaTime gaHwd aierueamp Ceuige?

(A) AW.Green (Giddings
o Geryy,. &fer &g By

(C) R.M. Maclver (D) John F. Cuber
i7.6TD. Glnsedengauir SOMTGHT 6Toold Gl

(E) Answer not known
v GQsflwiedena
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180. In 1814, who has established ‘Atmiya Sabha’?
1814 b argd 0L seL Gereumd  ahs  Fidmsseundserme
Blmieutuc L g7

(A) Rabindranath Tagore
TelinSTpTd Snant

(B) Debendranath Tagore
CaCupdlymprs sraa

(C) dJyoti Phule
Ggrdlur LGe

\(9/ Raja Ram Mohan Roy

gmggrymd Corgesr T

(E) Answer not known
eflen Qs Mweddene

181. Arrange the following events of B.R. Ambedkar in chronological order

9.9y, D CLiga T e blaipe|safler 3iiq e L_udle ereumeuareunBenanr sfwims
aflesliu@ss)

(1)  Became the member of the council for Governor General.
salfen Cgarrd @wpeild o miieanyrarmi

(i) He formed independent labour party.
sefluuc L Qsmfereart s Aullener Blmial e

(i) He took charge of the Law Minister in the Government of India.
Qndwu sirflen s i@wnsarma CummiGupmmr

(iv) Became the President of the All India Depressed Class Association.
DDAGHBSE L @OESE I L auGLlarméstar srhssd e samaaiTarmt

(A) (), (i), @), (iii) B) (ii), (i), @v), (ii)

\(9/ (1v), (1), (iii), (1) D) (), (i), (), (i1)

(E) Answer not known

eflen GaMweddeme
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182. Assertion [A] : The Rajput favoured ‘Sati’ and ‘Jauhar’ to save their

183.

disgrace and dishonour.

sam [A] TrgusSriad &8 whmh Fenrt euisaflar smbgs Coupur®

wHmib Seundiemus stuurby ef@Eblart

Reason [R]: They could not imagine that their women folk should

suffer prey in the hand of their enemies.

smyed [R] : Quarser shisar dfisellar @aslld GQorowu J@UEES

(A)

CeuaT(ib eramml jeuiisenied &hLiemar GFuw igueiidena
[A] is true but [R] is false.
[A] &Rl wpmo [R] soum

,‘y Both [A] and [R] are true, and [R] 1s the correct explanation of [A]

(©)

(D)

(I)

[A] wpmio [R] af [R],[A] éfpsrar sfiurar elerésiongld
[A] is false, [R] 1s true
[A] seum womd [R] &l

Both [A] and [R] are true, but [R] is not the correct explanation of
[A].

[A] opow [R] &R, wyame [R], [A] dipsrar silurer cAlemaELIDeven

Answer not known
el QgMuwelcrana

The place, where the self — respect movement of E.V.R. Periyar was held
wsasde E.V.R. Quilunfean sw wfutams Gussid paLtupp @L b

(A)
(©)

(E)

Erode hengalpattu
RRELHI Qemsul (K
Tiruchirappalh (D) Vaikom

& m&d gl uerer MeuEHSLD

Answer not known
eilenL Gg,rﬂuaﬁld}ma)
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184. The main objectives of Dr.

inter-caste marriage assistance scheme

Dr. wss@arss Quig Haarey sQUILS  Slpwem

Crréswmeng

(1)

(i)

(111)

(

(C)

(E)

To abolish caste discrimination and to promote social equality
srflu Caupuramar samanhg) FDSFZUF®S 2 (HeurFGag)
To start and run service homes for widows.

aﬁ]g;mmas@és@lﬂm sre efl(Hd BL&gleus)

To impart vocational training for destitutes to be economically self

sufficiency.

Siu@au Gudrs@rée QUIBETTST) &L s 2 epLul Qamfler el LLDHA
bL-SZiHe0

(1) only (B) (1) and (i1)

(1) @b (1) whmib (i)

(1) and (1ii) (D) (i1) and (iii)

(1) wHmb (1i1) (11) wpmd (111)

Answer not known
eflen QgMweddene

185. The Pioneer of the widow remarriage movement in India is
Epglumeile efgmaisdr wmiwen Busssdlen penGeanng —— oyaurh

(A)

(©)

(E)

Sociology

Pandita Ramabai Maja Ram Mohan Roy
LI&STig & [FTLOMLITIL] greRm gm Ciorges [my

Ishwar Chandra Vidyasagar (D) Keshub Chandra Sen

mevellt shATT efgwners Gaels spdTr Qae

Answer not known
aflanL_ @5 flwelorane
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Muthulaksmi Reddy memorial was
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186. fought against and succeeded in persuading the
British to ban it in 1829.

-, - 8@ adlinsl Gummg, 1829 Gé ey mdCawiss oigamans
s Gl euellymisd GeupBlQumpmi Gl

W Raja Ram Mohan Roy, Sati
gregm b Gursenymi, g

(B) Raja Ram Mohan Roy, Child Marriage
grgn gmd Giomserrymi, GYhoss Hmwoawrid

(C) Swami Vivekananda, Dowry System

saimfl efGeusratss’t, eursl semar apeann

(D) Swami Vivekananda, Caste System
gounl ellGeusrambsi, erd apeom

(E) Answer not known
eflen Qzfuiafideme

187. Annie Besant’s advocacy for Indian self-rule led her to arrest during the
ene| Clugariy e @ hdlw swgmsyuisSen QUISREIGET Sialen] mag PelwliL@Beusnes,
afleu@ssg)

(A)  Quit India Movement

CeudrenerGen QeualCuim §widsib

(B) Non — Cooperation Movement
RSSHMPUITELD @IUISHD

{(y Civil Disobedience Movement
FLL LYUY Quidsid

(D) Khilafat Movement

foorug BQlussid

(E) Answer not known
aflen Glsfluieldency
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188. Satyashodak Samaj was launched by
F5HLCETES S WTTTe HNGILIULLSI?

(A) Narayana Guru .Q%]yotiba Phule
BTYTUWIGRT (& Cordlur Ge

(C) Savitribai Phule (D) Swami Vivekananda
gredsfumi LGe Feaursl ellGeousnarhsT

(E) Answer not known
adlent Gstlwellvane

189. Match the following :
Qera meuarahenn GUmBmESeyD

Reformers Region
&rél(msseuSlaer QynhHuiid
(a) Annie Besant 1. Pudukkottal, Tamilnadu
sjerrerf] Gl Lge HgsCarlaL, sWIbETH
(b) Raja Ram Mohan Roy 2. England
pregmymid Gurserymy @ rderhs)
(¢) Muthulakshmi Reddy 3. Satara Maharastra
(WGl &0 Gyl ELTT LDSTTTEGlgJ1
(d) Savitribai Phule 4. Hoogley. Bengal
gradgsHumin LG amedefl, GumiETe

@ b)) @ (@
@A 4 1 2

2 4 1

(C) 1 4 2
D) 3 1 4

b o W o

(E) Answer not known
eflent  Ggflwaidvana
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190. Among the Indian social reformers was awarded with Nobel

Prize.
@pdw sops SrPmsseundsafies ———— &@ Cprue ufle cuprsiulLs)
(A) Gandhiji (B) Ambedkar
sTHele ELERELS)
(C) Raja Ram Mohan Roy other Teresa
@omggr g Gorse gmi slenenar Cgrem

(E) Answer not known
aflenL Qgflweiidena

191. Match the following
Snsasa_aupap Gu(hsss

List I List II
U iquied I ucigwed I

(a) Raja Ram Mohan Roy 1. Raised against untouchability
@nmggmymd Cuorses Fmi SeirL_manLnd@, erdlyns er(pheur

(b) Swami Dayananda 2. Educated the girls
&EUMLO S WITETHEST QuearaeT seded

(c) Jotirao Phule 3. Raised voice against the custom of sati
Gayrdlrmey 4G sHpensE adins @re erpulluau

(d) Savitribai Phule 4. To save the Shudras and Atishudras
snedsSfumi wGe G&SSiaeT, RHEGSTT6man H165

a () @@ @

(
& 3 1 4

2
B) 3 1 9 4
€) 1 2 3 4
D) 1 3 4 2

(E) Answer not known
eflenL GQsflweiidena
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192. Periyar’s principles
Luflwrfer Qsrdarenssdr

(a)

(b)
(©)
(d)

(e)

(B)
(©)

List I

Ul guied I
Rationalism
uEssdle aursho

Self respect
swiflwuneng

Women’s rights
Quersaflear o MNepwo

Rural Development 4.

Ayroliyp eueriéd)

Freedom
&SHETID
(@ (b)) (e
&5 3 4
5 3 if
3 1 4
2 3 4

(D)
(E)

Sociology

Answer not known
cllenL Gz Mlwelerane

3.

(d)

QT N N o

List I1
ulgwed T
Respecting all thoughts and actions

SHDATHG eTRTETRIS LD CFLD ML LD
wILg)

Uplifment of villages

Slrmomsetar wperGeanhmLd

Universally accepted ideal world

2 seTalled ghms Csmereriiur L Qe fwu o eaib

Women realizing their rights and worth
CLerrseT shser o Mevsmenyb wéieuuyb
2 6T G60

Practice of treating reason as ultimate
authority

Lgssdloel @md flarriorss &(MGILD
H6DL_(Lpenm

(e)

S W
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193. Assertion [A] : Democratic decentralisation is the concept of

“Ram Rajya”.
sapm [A] : QATBTLGL Ljeuenssd erarig TrorrRedlusdea shds G
Reason [R] : Mahatma Gandhiji's work on “Swaraj” has made great
stress on “Panchayat Raj System”.
smyerd [R] : warsor  srpHgudar swrngelul  uesl  uEbETWSS  TTR
si@wudeo Quph Sipsssms ghubSsiuidrang
(A) [A]is true but [R] is false
smpm [A] &f e smyand [R] saup
Both [A] and [R] are true; and [R] is the correct explanation of [A]
i [A] wppo smerd [R] &, wppo s [R] gas sampn (Al
Ap@ eflwurer afleréswomgd
(C) [A] is false, [R] 1s true
sapy [A] seum, smyerd [R] &M
(D) Both [A] and [R] are true, but [R] is not the correct explanation of
A
e[m;gu [A] wppis smpens [R] sf wppo smyemd [R] seis sop [Al
@ sfluner efleT&sLTRTG Si6Tm
(E) Answer not known

afen Gsflweildana
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194. It 1s a movement for a comprehensive effort in Rural reconstruction
which integrates the co-operative organizations and non-official agencies
Qg fymotyn yamewi9e e alfleurer pupdlssrer @uissonEb, glerafld
@5 smLOpey  HmeueThse LHgd  siflsrrigiewpy  Fpeuarkisamar

R(Hrdlearsdng

(A) Swadeshi (B) Ahimsa
&G54 < dlibens

(C) Dalit arvodaya
sell5 &rGeumguim

(K) Answer not known
dlerL Qafwaddena
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195. Select the right choice for the “Model Villages” which was initiated as
per the community development projects?
sops CGuburl@s Hlicmseafller wg Gasmimstule wrdf SrrohmseEréssTar
shilwnar Careaveus CoipEs@dEse.

(1) Gurgaon
(&TQm meir

(11) Moga
GLDI'!'&SIT

(ii1)) Marthandam
DT & Te8TL_LD

(iv) Vadamalaipuram
QUL LDEDED LI LYIJLD

(v) Pratabgarh
Gygmiisnis

(vi) Nanmangalam

BN LOMIGEITLD
(A) (1), (1ii), (v) and (v1) (B) (i), (ii1), (iv) and (vi)
(1), (i11), (v) wpmd (Vi) (11), (ii1), (v) wpoid (Vi)
(C) @), (1), (iv), (v) and (v1) \(Mi), (11), (iii), (iv) and (v)
(@), (1), (iv), (v) wpgp (vi) (i), (i1), (iii), (iv) wpgo (V)

(E) Answer not known
afen Gafuiefdane
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196. Assertion [A] :

sopmy [A] :

Reason [R] :

srramib [R] :

Bal Gangadhar Tilak emphasized on “Swaraj” as the
birth right of people right.

UMT&shsTsS] Sasm seirgser Fuwiyraedlui eTeTLig  Ldsaflen
nayflenw erar eualluymisSen

Under the influence of Mahatma Gandhiji, Dadabhai
Naorojee passed the resolutions of Swaraj in National
Committee Meeting.

waersonr  snpdliar  awpupssdlar streTors  gTsTUMD
AperGymgdl  Caélul GWs sl Lgdd eveuyngm Eiionansans
Blenp Ceup e

(A) [A] is true but [R] is false.
swmpy [A] &fl gyamed smrern [R] seug
(B) Both [A] and [R] are true and [R] is the correct explanation of [A].

spp [A] wpgw smremnd [R] #f wpmb sryeams [R] =yang sapm [A]
ailpe sflwuner elarésnmEw

(C) [A] 1s false [R] is true
spp [A] seum syame srrewn [R] &
V Both [A] and [R] are true and [R] is not the correct explanation of

[A].

sgpm [A] wpod srgewn [R] &f whHph smyerd [R] yeng sapm [A]
el sflurar aferés ey

(E) Answer not known
eflen QgMwafdena

Sociology

118



197. A 14 — line poem “Sonnet” was introduced in Tamil Literature which
makes Social Awareness and patriotisms to all Tamils by
sl QEwsdwusded swps  dlfuyeriaawynd  Gssliuperpuyld  AMTESHIS
sllisERsEh ghu@ssb 14-afls seilams “Ceran” eiflpaslu@ssiulLg)

(A) Bharathidasan (B) Kaniyan Poongundranar
umydlgreen seflwer Lmki@earnermt

V Subramania Bharati (D) Kavignar Kannadasan
sUllgoenflu urydwmr &6 (G517 & 68T 6T MEGHT

(E) Answer not known
aflent Gzflweleana

198. Who said that, “Without social reform, our political reform is a dream, a
myth, for social slaves can never really understand political liberty. And
until and unless our social conferences prove a success, our National
Congress is nothing but glare and dust”?

“saps Sidapdsd @denod, Bg STFud FrEmEsD @M sae|, @ sL(Hssms
goarafle Fups Bigamwsand rEud sshdrsas 2 amanuleo ylibg Cererer
pigwrg Bog wrprhsd Qeundl Qumib eey Bog Gsflu srhdye seren e
Fagiib, greb sally Ceulpresdlaena” erem sndluieui wim?

(A) E.V.R. Periyar
E.V.R. Quflwunr

W Subramaniya Bharatiyar
&L ywenflw urywms

(C) Kavimani Desiga Vinayagampillai
sailentl Caflw allpruisbierener

(D) Bharathidasan
ungdlsmaer

(E) Answer not known
aflenL Qgflwelldena
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199. Consider the following statements and select right choice from the given
choices
s sapps@er smsHe Qards. Qar@ésiur L G sefdmbg efwurear
ellen_anwi Cais0lsRés.

()

(i1)

(iii)

(iv)

(A)

(E)

Sociology

“Scorn Astrology” is one of the maxims of Bharathi.

@fley Gorilin eeug umyduler Camlur@aefe gemmmEb

Bharathi was not only interested in humanities but also in the
scientific advancement of the country.

urgdl  oreyLeiwelleo LD  @teub  Qsretartg Bl oibaflud
penCanhHns b =yfeud QameRr_euir

Bharathi may be called “the poet’s poet” similar to Spencer.
wQuensi-gg  Guneny umrdulear  “seflepisaien &afl@si”  ereayld
@ wpésliuGEprr

As a Journalist, Bharathi analysed political situation of Russia
and constitution of America and wrote urgency of freedom in the
magazine “Swadesamitran”.

o6  usdfsosurayrs, umrd  Seiser  jaswrelar . orAulud
Gpfleomuuyn, H@fss Srfuaewlumuub uGLLTIE QFiig pLOG
sapETSHe HausTH®g sarg “aCsslisdierT G s Hany erpdenni

(1) and (ii) are correct (B) (111) and (1v) are correct

(D) wombd (11) eydwena & (111) wpmb (1v) pHwereu &

(1), (i1) and (i11) are correct (D) (11), (111) and (1v) are correct
(1), (A1) wHyb (1i1) edwemar & (11), (111) wpmie (1v) duieney &

Answer not known
aflen_ Qs flweloane
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200. Match the following :
sflwns Qumpsss

(a) Shramdan

QLD & T 60T

(b) Gramdan

S ymibgmer

(¢) Sampatidan

FhuUTHgmer

(d) Budhidan

LSl meir

@ & @© @

A 4 3 2
(B) 1 4 3

2 3 4
M 3 2 1

(E) Answer not known
cllanL GgMwuaelidvena

= =

No individual ownership of land the
production from the land goes to

common purpose

Plagdler safliulL o flaw Gedoae. flaosdemba
Glupuul L 2 pugd QummEmLaer Cumgeumer
Cprassdne Ceddng

By donating a definite fraction from their
Annual Income of those who haven’ t any
piece of land

flob ggeab Qaargaisdr shsefer oyam®
aporarsdld @mEg ML @@ uGHulamen
BeTQETenL WS eupki@sd Geu (b

Those learned professionals can spend their
intellectual capacity (or) time for promoting
a social welfare (or) delivering lectures
on that

Be@E sHoibs uOQBIsE Shsar sidleyeni Hper
g Cprsms geps poomear CubUbSIHILSHES
TS aflfleyenraaner QULPMRIGEUSD (S
Gaawall Geuamr(h b

Providing free labour for projects of public
utility

Qumg  vweurl(®  FlLRsEnsE  @Qoas
Qamfleremisenaer euLpRkIEEED
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